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2 � � � �

�Da>���7���	�]0���2�T�UAp.6�����2 ��� 3	�]
��4�
	��Mm=8
�	��2%_
`�a��
��6�1������ m ���M������ ���DlC���� �!.a>��"$#�B&%�'M2�(,�*) �,+ 5Qa.-�/�0:�*1�'�3	��1���� 3	��2 ��3 2.1 2�4Ap
2.1 576989:
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3 2.1: ;�'M��<�=
> ��?�8
l:9 �<; m 1 * > ��?
��� lightguide @
������A �:9 j	�]�A`�a � �'6�B�5�CEDM�D� D B�`Me
F
2�G�HE3	��1 scintillator * lightguide @JI�KJL�IQ�#�MK�( 2�N�H 3	�<1�-,)Q� lightguide ��O�2"��9�I�J
K
L:�EKJL
P ��A � 9 j��Q) �,+ 5 �M3 2.1 �fe
Fr2�1�'�3	��1�7���R��A�]
�� �TS�`
U�VE#Qn���WE� 3 �;�'�X�?YI�U�V�#Qn *[Z�\0��W�� 3	��1 TDC �]�E`�a'� !�#Q$'& �T]��:� T�UApf6!��*>��^�_ 3 a�`����� 2 `3� scintillator �E@�a��&b,/$P,) ����1

1 c[d�egfihEjlkimin�opdrq,s[tiuwv http://www.mrc.co.jp/acrylite/04.html xgyrz k|{i}g~
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6 Cherenkov
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�
3 � � � � Cherenkov �

3.1 Cherenkov
�������

Cherenkov � *"���
	E9#��I0��5�6�W n �8+��EB&2E- �	�.�37���2E-
�7�E� ��] c/n �*_�
.6*]��
���
6f*#/"2.���Apf6Q9�� > ����
��G�
	E9#��I3��2E-
�7�A�T]��:� v * p&���"� Cherenkov �����������C�	E9#��I3�T]�������
�D θ �����7��

6f* pf6f* θ ��� �0����
2D=�A6�1

cos θ =
c

nv
=

1

nβ
(3.1)

�����>� β = v/c = 1 �<��� θ = θc * pf6f*=�&5�6�W 1.49 �48
l:9 �<; m �	�.�

cos θc =
1

n
=

1

1.49
(3.2)

θc = 47.8◦ (3.3)

e���a%/�0�10��� Cherenkov ���

0 ≤ θ ≤ θc = 47.8◦ (3.4)

�&=�t0�QT�U�����6!��*D2�BE6�1
0������� �! L � > ��?32]S�3 a"� Cherenkov

> � ��"32 θc ������2 > �,����6%�� �B D�)���Z>6�Y-#
2fe���a���� θc � ��#�* pf6%$���t�u �*4Ap�1 ����$��M@
�'&��
(,� ∆θ * pf6f*=�

∆θ =
λ

L
sin θc ∼ 10−4 (L � λ)

*�B �G�*),+�2%-2� `
�#��.0/21.� θc 2 > ������6f*  �

6�13 �7����� > �0�&%�/�6f�"!�#%$'& �*465 ��� �,7"n08�# ( 9%F�: Ec � ����� Pc ��� (3.1) � e � θ = 0◦

�<�.� β e0� -,)<;��f�fe
Fr2&= '%6�1

Ec =
mµc2

√

1 − β2
− mµc2 = 32.2 [MeV] (3.5)

Pc =
mµcβ
√

1 − β2
= 92.5 [MeV/c] (3.6)

(mµ = �"!"#�$'& �Q- � = 105.6 [MeV]) (3.7)
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�����>������9DF 
�D 3.2 �0�"��� �"!"#%$'&)(32%_
`�a����fpf6�1�0Dr2�������0
10�E� Cherenkov ��2fe%6�G�T
��I�(4� G�T����.&%7"n�F'2%_
`�a	� 3.3 �0�����fpf6 �
*D2%pf6�1

3.2 �	� 
���
�� ��� �����
�����	��?&@ *&3 a%�A`.6f�"!�#%$'& �D���32Q_
`�a����fpf6�1
� ! #%$3&����A*'/�1���U	���������! 2�"YI -:�$PG��)
+�2*+-,�C	��$
`<1!�	Dg2���96	,�$#A_:��* 
,D%'& @)(�� 3+*
p.`<1 ���M��!"#%$ & �D���-,�t/.��
�Dl%j'*43 a#�����f@.2.���0�&>EDH�
a�`.6�11032��
θ �54�6�& �*4Ap�1 :

dNµ

dEµ
'

0.14E−2.7
µ

cm2 · s · sr · GeV

[

1

1 +
1.1Eµ cos θ

115GeV

+
0.054

1 +
1.1Eµ cos θ

850GeV

]

(3.8)

7 � θ = 0 ��

698;:�����
,Dr�D����,�t/.��M�DlQj���T�U=<�#.d.*�>-���	�-#�� %?& ���.� ����.�2�4
p�1             ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

3 3.1: @�A�B ( 
4��I * ACB�2�� ) eDC
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��� ����.�
�D ���"!�#%$'& �D����(32%_
`�a  �
.6�1?>3� ����.����)_.������2�t 5�6�1
(1) Pc = 92.5[MeV/c] ≤ Pµ ≤ 1[GeV/c](β = 0.994818)�g���	�&�	�.�%�"� � ! #Q$'&�� dNµ/dEµ ∼ 3.1 × 10−3 *&3 a"��	J�fm 8��	� 
,D >��.��
.& �
� #
dQ#���!�?�& � , >-24�$��23��2�",��7���R�� S1,S2 �37��E@.����:,� d *43 a>�

S1S2

d2
=

(18 × 18)2

1002
' 10.01[cm2 · sr] (3.9)

*rBE6��#�>�����E@.�'"�%
��@ # C)�M�"!�#%$'& ����( �
N

(1)
in = 3.1 × 10−3.1 × 10.01 × 0.907[GeV/c] ' 0.028[1/sec] (3.10)

� � a>��� 35 ��@.2 �������.� ����� � #A_ �"!�#%$'&���� 1 �4� > ��?32D� � a P 6!��*D2�BE6�1
(2) 1[GeV/c] ≤ Pµ ≤ 10[GeV/c](β ∼ 1)3 3.1 � ����. 
�D7�r�E@.� ����� �C� dNµ

dEµ
∼ dNµ

dEµ

∣

∣

∣

∣

10[GeV/c]

×
( Pµ

10[GeV/c]

)−1.5 *�B�6��#�,�r���
�&��"�tApf6f*=���������.�D��� � !�#%$'&)( �

N
(2)
in ' 0.013[1/sec] (3.11)

(3) 10[GeV/c] ≤ Pµ

�r�<�
��������.EeDC ����F * 3�� pf6f**^EB 3 a>� dNµ/dEµ ' 0.14E−2.7
µ *43 a�"�tApf6f*

N
(3)
in ' 7.97 × 10−5[1/sec] (3.12)

�=�'eDC>�������32�

6f�"!"#�$'&�� .0/21 ��T32�
�
�D B�`��32�BE6�1;�> 
�D ������0�10�	�89
^ 3 a 1 ��@.��43e"7 0.041 �3���._ 'DCG��� 25 � 2 1 �3�.7 90�'�"!"#
$3&��"��� 3 a P 6!��*D2�BE6�1

3.3
����� � �"!�#

Cherenkov
�

� !�$�%'&)(�*,+ �,- dl . !0/21�3�/�B�4	. Cherenkov 5�687�9�:&�,7�;08<$�=�>8? ω -A@B60/)C8:ED
.'&�F�G�HJIBK)L

dEµ

dl
= −

e2

c2

∫

βn(ω)≥1

ω
(

1 −
1

β2n2(ω)

)

dω (3.13)
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��� C "���&�F�G�H���� C 7

d2Eµ

dldω
= −

e2

c2
ω
(

1 −
1

β2n2(ω)

)

(3.14)

	 .�
�� ;�
�$ =�> 7�9DC Cherenkov D IBK)L<D	(�@�� /�C :�.�� 1 Cherenkov D87�9�:)@���D���H0-
NCh

out I���:�I 1'>�� 9DC

d2NCh
out

dldω
= −

e2

~c2

(

1 −
1

β2n2(ω)

)

(3.15)

	�	 ��@�� /�C :�D8.���F�G�HJI�����7B? λ =
2πc

ω
.����	( �,:�.�� 1'>�� ?

d2NCh
out

dldλ
=

2πe2

~c

1

λ2

(

1 −
1

β2n2(λ)

)

(3.16)

9�!�L#"����
/#�$� C .�@B6,D���H ?

dNCh
out

dl
=

2πe2

~c

∫ λ2

λ1

1

λ2

(

1 − 1

β2n2(λ)

)

dλ (3.17)

	�	 �&%���. λ1,λ2 ?('�)$*,+ (PMT,lightguide, 5�6�- etc) .�.�/ .0����1�2�3�46587 ��9 1�.$/ (�:;�<�=�> .#?,@�A�1$%B@�A�� �,:&C
',D�1$'�)$*E+ .(F6G <&H 3 ?(�,��7&IE��:01,2�3�(�JLKNM 1�� (3.17) .�O,P�Q�P�7�R�. H 3�7�����:�ST -U��:&C 	�	 �,?�1

• PMT .�V���W�X εp(λ)

• Lightguide .�Y,D�X Z\[�]�X_^a`cb�d εcl(β)

• Lightguide .$e�� . cherenkov D8.0Y,D�X εclg (β)

• 5�6�-�.([�]�X�.�����1�2�3 εta(λ)

• 5�6�-�.(f�g�� .&h�6�X�. Cherenkov �8.�1�2�3 εra(β)

-0i�j	: 	 I 7�K L 1 	 .�S T ^a`�k :�I

dNCh
out

dl
= 2πα

∫ λ2

λ1

1

λ2

(

1 −
1

β2n2(λ)

)

εp(λ)εcl(β)εta(λ)εra(β)εclg(β)dλ (3.18)
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	�	 � 1 α =
e2

~c
'

1

137
������������H�� �,:&C

	 C65E. εp(λ) 1 εcl(β) 1 εta(λ) 1 εra(β) 1 εclg(β) ?�1�	 4 
�.���
�'�)E����� 7����8: (�1�� ?���� .��
7 1 	 C 5E.�AJI�K)L 1

1. PMT .�V���W�X	 C�?������ �"!�#�$ .�%�!f!'&�; 465
εp(λ) ∼ 0.2 (3.19)

2. 5�6�-�.([�]�X	 C�?�&(#*),+'-.� .�3 + 465

εta(λ) ∼











0.9 for 300[ nm] ≤ λ ≤ 650[ nm]

0.18(λ − 250[ nm]) for 250[ nm] ≤ λ ≤ 300[ nm]

0 for λ ≤ 250[ nm]

(3.20)

3. lightguide .�Y,D�X

4π /10�.�D87&IJK)L	?���
�'�)�465 1

εcl(β) ∼ 0.085 (3.21)

���,: ( 1 Cherenkov D87&IJK L	?�13240&3�(��,:��$k�1 	 C 7�5�6�7 < S T -98 <;: C=< ! $�%'&
.�>�6��$+�1 Cherenkov D8.��$/ (

�L��9 <"! $�%'&�.9? / ) 7�9�!�L 1 lightguide -A@ K)L PMT 7
>�:�D���H ?9BDCc!EL_M):	IFE(C�C :�.���1'> 6���+HG I 70P;I�LUi�j,:(C ( JEj�KE1 e�L�7�>�6 KM?
/ (�N M ��/ (3O /�P Cherenkov D ? lightguide 7�9<: loss ^RQ < P I i�j 5 C8: )

��
,'�)�.�S�T�465 1BD�Uc465�.�V�-��'7�9B5RW�1�D	( lightguide .�>B6�g�X,-0-9Y !�L0K � j�K�1
Y�D�X ?(� (3.21) 7�Z[P PMT .�>�6�\87�>L!�L�P M C 9�!�L 1 D	( lightguide .�>�6�g�X�-0-]YDC< P 9 :�< 1 ����9 1 Cherenkov ��(3O /�P�4	7 � P LN^a`�k�L�i�j	:&C'/�5E7 1 lightguide e�� .^ D ^ i�j	:��$k�1�5�6�-JI lightguide �#P;I<L�_�O_^<: 	 I 7���:&C

(a) 5�6�-�� . ^ D87&IE�	:0Y,D�X
<"! $<%'&�.�>�6���A -�e�LB465 d[cm] I���:&C (0 ≤ d ≤ 9.0[cm])

i. d = 0[cm] .�`�a
< !�$�%�&�(�e�L�b�%87�>�6 K0�,`�a�1;< !�$�%�&�.9?�/�- β I �	:	I 1 Cherenkov � ?��
(3.1) 7�Z : ��/ 7�@L� / C8:&C09�!�L�1 5,6,-�( 14[cm] �B�	: 	 I�465 1�c :&/ 7 coned . Cherenkov D	(�@�� /�C8:<.�� 1 Cherenkov DE��eNk � M�/�C8:Af�g ?�h�i�7�K)L 1

rc = 14.0 × tan θ (3.22)
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I < :&C 	 C,( lightguide .�>�6�g 9 9 JLK�P$43O'/�P$4�� 1$Y,D�X0-�� .�9 : 7��	:&C

εcl(β) ∼



















0.085 if 9.0[cm] ≤ rc

π(2.55)2

πr2
c

if 2.55[cm] ≤ rc ≤ 9.0[cm]

εta if rc ≤ 2.55[cm]

(3.23)

	�	 � 1 9.0[cm] 18? lightguide .�>B6�g�.'h�i 1 2.55[cm] ? lightguide .���6,g�.�h�i��
�,:&C
	 1 � ? lightguide .�>�6�g0-9Y : .��#� 3.21 7�Z[P<1�	 2 � ?�>�6JI&��6�.�g�O�� IBK
L �,:(C 	 C�?E1���
�'�)�4L5 135�6D7 < Y�D�X I�P�P����'-�� L�P,:�� � 	 .	9 : 7
	�P
�#C�	 3 � ?�>�6�g�(3O'/NM 1�[�]�X�.�P0-��JIBK)L�P	:&C

ii. d = 6[cm] .�`�a	 .<4 ?�e�LB465RW�C,L�P,:�.�� 1�
���� �,:&C	 .<4�^���F 78K)L 1 lightguide .�>�6�g 9 9 JLK�P�43O /�P$4���1�Y,D�X0-���.�9 : 7��
:&C

rc1 = 14.0 × tan θ − 6.0 (3.24)

rc2 = 14.0 × tan θ + 6.0 (3.25)

	�	 � rc1 1 rc2 ? lightguide .�>�6�g�.$e�Lc465�� !�L Cherenkov D8.�� ( 9 .��_^��4P� 1��4P � � � .������ ��:&C

Cherenkov D,( lightguide .�> 6�g87(I K L�1��AC MU5RP�Y1P� M �$4,?E1 rc1 1 rc2 I light-

guide .�>�6�g�.�h�i 9.0[cm] �#7 ��9 1

εcl
(β) ∼































0.085 if 9.0[cm] ≤ rc1

π(2.55)2

S
if rc1 ≤ 9.0[cm] ≤ rc2

π(2.55)2

πr2
c

if rc2 ≤ 9.0[cm]

0.3 if rc ≤ 2.55[cm]

(3.26)

rc ?(� 3.22 ��!Bj,��^�.�� �,:&C	�	 � 1�	 1 � ? Cherenkov D	( lightguide .�>�6�g -9X�L�Y[P� M �3`�a C
	 2 � ? Cherenkov D	( lightguide .�>�6�g -���Q�Y[P� M8� ( R�.�g�O0- S IBK)L�P,: )

`�a C
	 3 � ? Cherenkov D	( lightguide .�>�6�g�.$eB7�X	L3>L!�L�P	:,`�a C
	 4 � ? Cherenkov D,( lightguide .��E6�g -B9 9 ^]O'/cM < :A`�aE��1 6[cm] 7�>�60/#"
����
�'�)�465E.�A�� �,:(C
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(b) lightguide e��B. ^ D87&IE��:0Y,D�X

i. d = 0[cm] .�`�a
lightguide .$e,� ^ DB� :<48?�1 PMT .�\'7������ :�D��,H0? Cherenkov D�. ��( 9 .
lightguide .���6,g�.�J�OB��7 � :&C lightguide .���6�g 9 9 J6K'I�C4K�1 lightguide .��
6�g�7�>L!���P���I PMT 7���� K 1�� 9 ?�1�f$g < �0� 1�h�6B1�[�] /�C8:�465 � �,:&C	 . 	 I -0i���7�> C8:�I 1ce�L 7�>�6 K���`�a ?�1 lightguide .
	
/ ( 6.4[cm]

< .��

rc = 6.4 × tan θ (3.27)

IBK)L 1�� I���F 7 1

εclg(β) ∼







π(2.55)2

πr2
c

if 2.55[cm] ≤ rc

1.0 if rc ≤ 2.55[cm]

(3.28)

I < :#C�	 1 ��( lightguide 7$e�� Cherenkov D . � ( 9 ( lightguide .���6,g 9 9 J6K
P�`�a���1�	 2 �	( lightguide .���6�g 9 9 O'/�P�`�aE��X�L 1 PMT 7��
����:,`�a�� �
:&C

ii. d = 6.0[cm] .�`�a
	 .<4�^���F 7�1 lightguide .���6�g I Cherenkov D . � ( 9 (�1 �AC���I�� < !�L�P,:U4
-0i�j�L 1 rc -�� 3.27 IBK)L

rc3 = 6.4 × tan θ − 6.0(≥ 0 .<4	7���� ) (3.29)

rc4 = −6.4 × tan θ + 6.0(≥ 0 .<4	7���� ) (3.30)

	�	 � rc3 1 rc4 ? lightguide .���6�g�.$e�LB465 � !�L lightguide eB. Cherenkov D .��
^ �4P � � � .������ �,:(C	 .<4�^aY,D�X ?

εclg(β) ∼



































π(2.55)2

πr2
c

if 2.55[cm] ≤ rc3

π(2.55)2

S
if rc3 ≤ 2.55[cm]

π(2.55)2

S
if rc4 ≤ 2.55[cm]

0 if 2.55[cm] ≤ rc4

(3.31)

	�	 � 1�	 1 � ? Cherenkov D	( lightguide .���6�g -9X�L�Y[P� M �3`�a C
	 2 � ? Cherenkov D	( lightguide .���6�g -���Q�Y[P� M8� ( R�.�g�O0- S IBK)L�P,: )

`�a C

12



	 3 � ? Cherenkov D	( lightguide .���6�g -���Q�Y[P� M8� ( R�.�g�O0- S IBK)L�P,: )

`�a C
	 4 � ? Cherenkov D,( lightguide .��E6�g0- I � < 5 < P�`�aE���,:(C 	 C	? lightguide

.���6�g�.�h�i 2.55[cm] 9 9 � f 7�>�6 K 1 Cherenkov �_^]O /�P��B� �,:&C

4. f$g�.&h�6�X� < :�����X�.��
	�7�D	(3>�6c��:�4<1�[�]�X 1�����X ?�1BD8.�>B6���/ 7�9�!�L�JLK M B
�E��:&C
D .�> 6��$/�? Cherenkov �87	9�:���1=< ! $�%�&�.9? /�7�JLKcM ��Cc!�L_M :&C 	 .(h�6�X ?�
����� 9 9 1

εra(β) ∼

(

tan(i − r)

tan(i + r)

)2

(3.32)

i = 90.0 − θ (3.33)

r = arcsin(sin i ×
1

n
) (3.34)

	�	 � θ ? Cherenkov ��� � 9 1 β �#7 � :0�$/B� �,:&C
�0F 7 i ?0f�g�7&IE��:�1 Cherenkov D8.�>�6�� C
�0F 7 r ?0f�g87&IE�	:�1�������� � 9 1�D8.�> 6��JI�� � I 5�6�-�.���ID7 < ����XE�#7 � : ��/
���,:&C
� ?�����X ? n=1.49 � �,:&C� -17	7 1 �2C M�5AP,.&h�6�X�4�1�H�A17	7��Bk :�I 1 β ∼ 1 .4<"! $�%'&�7(IJK)L	?�1

θ = 47.8◦ (3.35)

i = 42.2◦ (3.36)

r = 26.79◦ (3.37)

εra(β) ∼ 0.01 (3.38)

f$g���h�6B��:(/ 7 	 .�S T -98 <=: C
�$/ (3O /�P�4 ?�1�h�6B��: 	 I < M 1 lightguide .�%�g�7�� K��<4 ?�1

εra(β) ∼ 1.0 (3.39)

I�K)L���� ?�i�j	: 	 I 7���:&C

� %�.U� (3.19)- � (3.39) .�A0-(� (3.17) 7���>JK)L 1���7 λ1 = 250[ nm],λ2 = 650[ nm] I��BC�K�1�"
���
/ � 9 .�1<@�� /�C8:ED���H�(�� � :&C 	 C - �
/&�&O�PB� C�K 9�P,.�� ( 1=<"! $<%'&�.�? / β ?�1
< !�$<%�&)(�5�6�- -R@6!EL�P	:�!�� �3�����,: 	 I�? < P#C����E��:�(�1 5�6�-#"	-]c 9 < (65 1 5�6�-
eB.%$���7�
 � ;�
�$ - !Bj�1 <"! $<%'&�?�&�? K < (65 1 ����9 β -9Bcj < (65 1�5�6�-'"	-9c':�4 5
� �,:&C ����9 1�X�L .�
�� ;�
�$ loss -�"����
/(� 9 ��i�j<1�) �D7 < ���N���Bk < P0I�P�I < P�C K
40K 1�� ?�1�*�"�.���k ( �6M � � ^ 1�J � 4 < ��+0-���L :�� ) 1 <"! $�%'&�.�?J/�-E1�5�6�-'.�%�g�7
>�6 K���4	.�?J/ I 1NR�.�? /&��5,6�-0-A@ 9 ]-,E1�5�6�-0-$��6B��:<4	.�? / .%.�/���i�j	: 	 I 7��
:&C ����9 1�� � � . β -�� .	9 : 7����B��: 	 I 7���:&C
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5�6�-�7�> :���.�? /�- βin IBK)L 1�5�6�-0-$��6B��:�4	.�? /�- βout I���:�I 1��BGc
�� ;�
�$,.�B
�
-0i�j�L 1

mµc2

√

1 − β2
out

− mµc2 =
mµc2

√

1 − β2
in

− mµc2 −
dECo

µ

dl

∣

∣

∣

βin

× 14.0 (3.40)

	�	 ��� L M : dECo
µ

dl
?�������:(C � � 1 	 .<4<1���� ≥ 0 � �,:�.�� 1���� ≥ 0 � < 5 < I�C�K < 5 <

M 1 	 C,(�� � /�C8:�.B?�1 0.75 ≤ β ≤ 1 � �,:&C (
����9

0.67 ≤ β ≤ 0.75 .�<�! $<%'&�?
	�X17	7 1�5
6�-'"���� � !�L0K � : C )

	 C 7�9 9 βout (�� ��9 1 β -�� .	9 : 7�K)L����B��:&C

β =
βin + βout

2
(3.41)

	c
$� ;�
�$�.4<�! $<%'&��	? β = βin

< .�� ( 1 	 .0S T ?�1
�c
���;�
���7(IJK L 1
� 5 4 T K,P ���� !Bj	:&C
	�� F 7�K)L�� � K�� β 7(I K)L�� 	 C��
��� � ?��&����5�6�-'" � c':�I i�j C�K���5�6�- � c':��
7�9�!�L @�����C : Cherenkov D � D���H ?���� � � � ��465

NCh
out ' 43.886(1 −

1

β2(1.49)2
)εra(β)

[

εcl(β) × 14.0 + εclg(β) × l(d)
]

(3.42)

= 43.886 × sin2 θεra(β)
[

εcl(β) × 14.0 + εclg(β) × l(d)
]

(3.43)

	�	 ��� d ?�>�6���+�� l(d) ? lightguide e�� � c�8������ lightguide
� ���17
 d 465 ����� !Bj 5 C

:&C � � 0.75 ≤ β ≤ 1 � �,:&C

l(d) =

{

6.4 if d ≤ 2.55[cm]

9.0 − d if 2.55 ≤ d ≤ 9.0[cm]
(3.44)

	 C����&FLG < ?!� � < !
��"$#%��&(' e � @�]JK���I�K 7��#� Cherenkov D ��) W < D���HJI < 9 ( &
' � H 387,9 9 PMT

� \879> 6��	:ED#��H�� 	 C�*�5FP�7(& 5+�)C :(C )
	 C��
,c�.-0/���1�23� C�� ADC��465 ##� ;
IBK L ��7$��C8: 	 I 7 < :&C

� 7 	�� D���H8�
9	C8: ADC
��4�5 #&� ; H � i�:E��:&C

PMT 7�4DIB: HV
�

V IBK)L 	�� 4 � GAIN
�

G(V ) I���:�I;� ADC 7�<	C�=�b 
�>�V ?

QCh
ADC = NCh

out × G(V ) × 1.6 × 10−7 [ p] (3.45)

ADC I 
�>�V � ���?� HV I GAIN
� ��� ?���
�'�) 9 9

ADCchannel =
[4095− pedstal

206

]

QADC + pedstal (3.46)

G(V ) ∼
( V

2000

)8.240 × 8.543 × 106.0 (3.47)
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9�!�L���� HV
� 
�� � 1650[V] � pedstal ∼ 60[ channel] I���: I ,N����C8: Cherenkov D ��465 ##�

; H ?��

ADCCh
channel ∼ 1.923 × 104sin2 θεra(β)

[

εcl(β) × 14.0 + εclg(β) × l(d)
]

(1650

2000

)8.240
+ pedstal (3.48)

	�	 ��� � % � � � �3� K ( ������+�����c 5 " : ) �#F	� < <"!
��"$# � �BG�V ( "�� ? [GeV/c]) ��>�

��+
�&IJK)L�������C�� ADC A ?���� 3.2

��� : � < �&C
%�465 >�
���+ d = 0[cm] � d = 6[cm] � d = 8[cm]

� `�a�� ���&C

            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 3.2: Cherenkov D � ADCchannel

[ F�� < ��G�V [GeV/c] ��>�
��$+
�&IE��� ADC A ]

	���� : �
� Cherenkov D � _,j'/8?���>�
���+
�UJ�K < 1�2�3 ��� �#C
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3.4 ���������	� Process

3.4.1 
���
��
> 
����(�
&�'Be���� 	 �
� R ��� � � ����$�IBK L��
&(' e � $��JI � 
����������(��� �&C � W+��$
� ����� ��CB� 
�� �� I � ���!�!�E��� 	 C ��> 
"���8�$#�%B��� 	 I0���0> 
"���0?�
���&�
�� � >
P�� ��/ �
��$�� ?�
���&�
���'�� ��CB� 9 �1-�"$# �3��CB� 9 ���&C 	 C���

��=�>B� ���&C (

	��)(+*
�	?��+,.-0/ I �$1 932 9 ^#������� 	 C�?�'�V �#h���JE�
� � ��� 
��JI �$1 932 9 �����0�54�6���K
�&C )	�� 

�B=�>
� � ��> : 
���&�
��B?�� Bethe-Bloch

��7 ��465

dECo
µ

dl
= −2πmec

2

β2

(N0

A

)

ρZ
( e2

mec2

)2
[

ln
(2mec

2β2Qmax

I2(1 − β2)

)

− 2β2 − U − δ

]

(3.49)

	�	 ��� β ?�� I��98BM �$� (3.41) ��Z : ^ � � ���&C
� �
� N0,ρ,A,Z, ?�:	�%� Avogadro H?�5; '"<�/��
$���V?��$���=?> ��� K � U ,δ ?�R�CA@<C$B 
���S TC �"<�/$W�T � S T C � Qmax ?)B'"�
��ED � 
���&�
���F ! � �,J�A0� I ?�
�� � .�/�'��AG�H #�I 5 &��� �#CBR K)L�� 	 C 5 � C ?

2π
( e2

mec2

)2

mec
2N0 = 0.1536 [MeVcm2/g] (3.50)

Qmax ' 2mec
2β2

1 − β2

[

1 +
2me

mµ

√

1 − β2

]−1

(3.51)

Z

A
∼ 1

2
(3.52)

I = 64 [ eV] (3.53)

ρ = 1.032 [g/cm3] (3.54)

��/�� U � δ
� B

���S T C �"<�/$W�T � S T C ?�>�
�> 
"���8��:	� ���c
���&�
��+��	c
���&�
�� �J ��4�6���K < P�W�T�� � 9 ��� ?�	B
���&�
��4<"!���"$# � i�j�� � ��� δ

� C�� i�j�� 	 I������&C
	�� <�/$W�T δ ?

δ =











0 if x ≤ x0

4.6052x + C0 + a(x1 − x)m if x0 ≤ x ≤ x1

4.6052x + C0 if x1 ≤ x

(3.55)

����K � x0, x1, C0, a,m ?); '���1�2 K���V�� � 9 ��: �%�
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x = log(βγ) (3.56)

γ =
1

√

1 − β2
(3.57)

x0 = 0.4164 (3.58)

x1 = 2.49 (3.59)

C0 = −3.20 (3.60)

a = 0.1610 (3.61)

m = 3.24 (3.62)

� %�465 � 

����� � �0"���� �#� 9 � 
���&�
�������?

dECo
µ

dl
= 8.597 × 10−2 1

β2

[

ln
( β2

1 − β2
× F (β)

)

− 2β2 − δ

]

(3.63)

F (β) ' 2.55 × 108 β2

1 − β2

[

1 +
2me

mµ

√

1 − β2

]−1

(3.64)

	 C���� � � ADC
465 ##��&����	C���4 � i�j��&C

] * I�K)L	?�� I8# 4�� - I
	
# D I�� 8 ] * < � ������I�
�W�X � S I����	I;� 	�� ] * � � "���� �
� 9 � > 
"��� � 
���&�
������ dECo

µ

dl
465 ��.�/c
���&�
�� Ep

� D��8�#"���� � � 9 dNCo

dl

� ^�� K
� I���C�K

dNCo

dl
=

1

Ep
S

(

dECo
µ

dl

1 + kB
dECo

µ

dl

)

(3.65)

	�	 � kB ?); '
��1�2c������H�� � 9 ����> 
"�,���	?�4�6���K < P C � ���&C���������� 	c
 ��&

����	? 	�� C � F ! ?���� � < M ���?��� 
�- � c_!�L�� 

�����
� � !�L ∆ECo

µ ��I�
���&�
�� loss� K�� IBK)L��NR C,465 � NCo
� � D�� ��B�� ��CB� I����	I

NCo = S
(∆ECo

µ

Ep

)

(3.66)

I0��K��&C
	 C������ 
�-'" � @�]���� � ����[�]�X?������X?� +'-.����-�� � Y,D�X < � � S T � ����I;� PMT� "&Q ��>�
B���ED���H NCo

out ?

NCo
out ∼ 0.9 × 0.085 × 0.2 × NCo (3.67)

NCo
out ∼ 1.44 × 10−2 ×

(S∆ECo
µ

Ep

)

(3.68)
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�?����
�'�)�4L5 �

S = 1.0 × 10−4 (3.69)

Ep = 3.0[eV] (3.70)

	 C�?���f�g�� � h�
_^a2�� K��#? � � AJI < !�L�P��&C
� % � ��>E���	I;�

NCo
out ∼ 4.60 × 10−7 × ∆ECo

µ (3.71)

	 C�� PMT "&Q��
1�����C�� � ����,N����C���
�>�V?� ADC
465 #&��&8?

QCo
out ∼ 7.36 × 10−7 ×∆ECo

µ × (
1650

2000
)8.240 [pC] (3.72)

ADCCo
channel ∼

(4095− pedstal

206

)

×QCo
out + pedstal (3.73)

� (3.64)
� 9 �$%����

∆ECo
µ =











dECo
µ

dl
×(dl = 20.4) if d ≤ 2.55

dECo
µ

dl
×(dl = 23.0 − d) if 2.55 ≤ d ≤ 9.0

(3.74)

IBK)L���>E���	I;� 

����� I ADCchannel A � ��� ?

ADCCo
channel ∼ 0.1637

1

β2

[

ln
( β2

1 − β2
× F (β)

)

− 2β2 − δ

]

dl + 60 (3.75)

	 C � <"!���" # � �BG�V ( "�� [GeV/c]) ��� K)L�� ��+����8K���^ � � � ?�� � �#C
��+�� � %�465 ��>�
?� d = 0[cm], 6.0[cm], 8.0[cm] I < !�L�P��&C
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            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 3.3: 

����� � ADCchannel

[ F�� < ��G�V [GeV/c] ��>�
��$+
�&IE��� ADC A ]

R K)L�� 

����� I Cherenkov D������ ��aDC �$!�L PMT 4650��7$��CB��`(a?�D_,j�� channel AJI
<"!���"$# � �BG�V ( ",� [GeV/c])

� ��� ? � ? � ��+�� ��� : � < �&C
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� 3.4: Cherenkov D I 

����� � ADCchannel

[ F�� < �BG�V [GeV/c] �(>�
���+
�&IE��� ADC A ]
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�
4 � � � �

� '�) ��> ��� ������4 � ��
,'�) � 8_!#��C 	�� 
���?�R � �(
�'�) � ���	�RS�T�	 ��
 i�: �
� ���
�&C

4.1 ADC � Calibration

4.1.1 ������������ � � �1P,� ADC ? LeCroy ��� Model1182 � ���&CcR � H�� ? � ? � @ 9 C
1. 
�>�O�P�� ADC �����

2. VMEbus(12bit)

3. �?� �! ?> � width ? 50[ns]
� % 2000[ns]

� ?

4. B � J ! (convertion time)16µs (convertion e �B? CIP ��P : NIM signal
� ���#C )

5. ��J#" �
= � 
�>�V (Full scale charge)170[pC]
� % 200[pC]

� ?

ADC �B?(��	�P�$��%� 
�>�O�P��8�#2��B���&C���& ?�>�7('+&�$ � ��	 ( 
 ��d � ���	)
* ��7,��� � �
I%) ����& ?+'5&�$ � X 
�>�V � � � �! ?> ��>L!,*�P�� J !3X�-��#O�PB���&C 4.1

� % �  +> �3>�7#'+&
$��,? ��� � �! +> � ��������-(. � f�g8� ADC A%�/)
*(0NK�1 �32���C�I54 ���&C

� 4.1: %8�3>�7('+&�$��,? ��� � �! ?>�C6� � �87�!/4#O�P �32��(C
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4.1.2 Q � ADC �������
���

ADC1182 ? 12bit 4�� 9 (
���

ADC
�

VME 4
	E4���� ����+��,? Appendix ��
��0k *�� � ), '
D����?��� � ��� � 0ch 465 4095channel

��� A8�
� 5 2 �&C ��
 9 � '�) ��>
��� ��>�7 
�>�V � ADC�
channel

�6� ��� ��� ! *�	 M����8� ���&C � 2 ��� �����$k ��� ��� :�< '�) � 8 !��#C
            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 4.2: � � � 
�>�V � ADC �! 9 � ADC
�

channel
� � ���&C

" #!� #$#�%�& � 
�'�( � V [V] � " #!� #$# �
) V � C [F] ��	 M �;� " #!� #$# �  ?> ��@	� J �

Q = CV [C]

� 
�>  ?>
��B � �32 *�� ADC
�

imput channel ��>(7$�32 �&C " #!� #�#�%*& � 
�'*( V [V] ? pulse

generator
� 
��( +> � BBj�� � � 4 - � �,Bcj�� � ���/1,+ �(C.-�b � ADC A [channel] �
/�b � Q[pC]� ��0,*��1� ��� � � � ),� � ��� 4.3 432��&C pulse generator

�  +> � ? 1kHz �/)��#C�4,D0� Gate  
> � ADC ��5[I � 9�6 0,*�465 Gate  ?> � 5[I � 9 ��7�8 ��� CIP  ?>��NR 2 �$9 ��
,4 � 1.56µs �
�;: � 4�� pulse ? 1.56µs

��< � !.= ��> 0 *.?�7$�32�:�@ *	?�ACB�:DA�E
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� 4.3: ADC
�

calibration:
" #!� #$# C = 220[pF]

� J ��� >�� Q[pC] � ADC � �����

� 4.4: ADC
�

calibration:
" #!� #$# C = 330[pF]

� J ��� >�� Q[pC] � ADC � �����
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� 4.3
� � ��� � ?

ADC = (81.093 ± 0.95105) + Q × (19.140 ± 0.8076 × 102) (4.1)

� fitting �32 *CA�� � 4�� full channel(=4095) ��������� � >�� ?
209.575[pC] ≤ Q[pC] ≤ 209.851[pC] (4.2)

���
	��32��
E�
�� 4.4 ������� � ?

ADC = (90.528 ± 0.52950) + Q × (19.407 ± 0.56178 × 102) (4.3)

� fitting �32 *CA����#4�� full scale channel(=4095) ��������� �
� � ?
206.255[pC] ≤ Q[pC] ≤ 206.427 (4.4)

����	��
21�
E % &�� ������� ? "�� � � #�� ) �������C( ��!,?�� �#" "%$ �����C(�&�'�+3�%(!E � ��)* ? ADC �,+�-�".$�1 ) �
� �%/ 200[pC] 432�(�� �!A10�2�3 4 3���5�6 ��7 @8
#9%) *CA�(���4��;:�<
+�-#".$ 1 ) �
� �>= 206[pC] ���%(
E

4.1.3 pedestal �
ADC1182 ? imput signal = ?�@�) : @ *BA�2%( �C= ADC ���6)+* 9 �>7D0;& 1 + *1A.( E � 2>=

pedestal � ( E F1�;GH� ) �
A�0 E�I 4.4 4%? Q = 0 4 ADC= 90.528 ± 0.5295 ��I 4.3 4%? Q = 0 4
ADC = 81.093 ± 0.95105 �,:10,*3A(* � 2�/ � �,J�KD&
L�B�( pedestal �;:��#412�(
E � � pedestal �
? ADC �;M�N�O�PQ/#R A�SQ��-CT @$:U( E�V W1� Gate Generator 4�XCY.:ZR[�
� gate signal =]\_^`�
pedestal �>= ��a )
*�$*� E�b �,) * =�c.&,d1� E

I 4.5: gate signal �,RC� [ns] e pedestal �D� ���

pedestal �%/ gate signal �,RC��&�f�g��%( � e�/�h%i�j>k 21� E
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4.2
�����������
	

Calibration
� Y�?
������� 3 ����� ��������� =��� "!�#�/��%$,�10'&'(D& Calibration /*)�+ :���?]J�K���,%� µ- � ��.0/2143�3 loss &.76587�9;:�(�� ��< =]J�K>=.(�� ��������� �@?�( EBA <D�DC��U? ��EGF 4>H �I 3�&8 1A�(�����JK!�A8L�M�J�K ?
N� CEPO

QSR�T0USV0W8T

 1A�#8� ��������� ?
X�Y�Z �\[�]*^*_�` R2256 a��0?�(
E�b�� ^�c 3 I ^ =�:QE%&�dSef=%(
E

g�h�i�j
180[nm] k 650[nm]

l�m�n�o�p�q
-2700[V]

r p�s
6.0[nA]typically

Anode Risetime 2.6[ns]

Electron Transit Time 48[ns]

Transit Time Spread 1.1[ns]

t�u�vSw
about0.2(Max0.25)

Electron Transit Time e,? Photocathode( � �8x )δ
�8<0y

photon pulse /6z�{;!|7�i>k � Anode � output

Pulse /0}27 @�(�~��Q�ZO�P�E Transit Time Spread(T.T.S) e;? Electron Transit Time �2�[k���= F H ^�2< �*����!�##O��*� ���f�0?�(
E
:��D� ^�c 3 I ^ ?]h��S���>=��S��& �>=
 1A�(>$ e�&6=%(
E
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            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

I 4.6: Rise Time, Transit Time, T.T.S �,K��
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4.2.1 ������� (HV) � GAIN �	��

� ��������� � GAIN e;?

GAIN =
Anode iCk'}�# ����<

Photocathode iCk'}�# ����<

�ZK��[�
��(
E GAIN ?;
��D&���� ��" ( :UE HV e�� @ ) ����� �2< e��Q(
E;$�� =�h�� =%(�#�j
I 4.7

�%7U0����>� �� �;��="!�#%$ E            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

I 4.7: LED =
 1A�#�� � �& �;�

')( ��*���+-, LED = Pulse Generator =� AZ��. 1msec &#
-/���
 KD�2�%0>�6� k�� �Db1� = HV

= -1100[V] iCk -2200[V] ~��12%3B�
�@# 1 E
LED �'���.= 
;K�e|=�(�e54 Photocathode i.k }6# �8��<�6 ?�
;K�e7� (�E�) * ?,I 4.8 ��7�0�&���5 #�E

1HV=-1450V 8:9�;�<>=�?A@�B LED BDCFEHG�I ADC J7K 4096 L:M�8:9�;NBOGO= HV=-1450V PRQ -2200V STG�I signal UVRW7XZY ; attennuator U\[
]O^`_Aa&bNc"I dB GDd Wfe , g�h7U Vin =�iDh7U Vout < Y ;j< 1dB = 20 log k Vin

Vout

l G�m�;A_Tn&o78
Ijp`BAq"UA[�rFps<T8:9H;A_
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I 4.8: LED =
 ���#,J�KD�,) *

fitting �,) * ?

log(ADC � ) = log(1.0 × 10−22) + (8.240 ± 0.101 × 10−2) log(HV � ) (4.5)

eR�@5*# E%� T �2< ��c < ? 8.24 ± 0.101 × 10−2 �0?�(
E�X�YfZ �\[�]*^ ��� [��� 1%&%7"� � $,� � ?
7.031 �0?C^��	��
 XHe�����(�/�
�<.?
������� k��@# 8.24 =
 ���(>$ e�&6=%(
E
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4.2.2 GAIN ������� ���	�
W�
 �%? GAIN e HV �./)�>T ��< �#) � �D(
�C=]hS� !8#�E%!]iD!��;$��f�%?>~�$2� ���S���f� �

GAIN �
� � ��/ZN�iCkj� � E Anode iCk }�# ����< ?8=�� &
�D(>$
e�/��.T�(;/�� Photocathode iCk }
# ����< /���hD&��1(>$ e,/0}
� � ��iCk��0?�(��%!�i !���� x &��>(�� ��< / 1 � $f56#��Ck��Q0"$��
0 i�� photocathode iCk�? 1 ��:������ � /0}�(>$
e;?������2� gain =! %jQ(@$ e /��%T�(���c.& ? $��
one photon =#"B}6=%('���>=!$ �@5*#%� �'&�(  &;� ?,c.�%7U0�& !�#%$��            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

I 4.9: HV-2000[V]

LED &
i*)�(�� " =,+B��-2! 7 ��-Ze�J�K@=%( ADC . ?/�R#��R#�+B�0-H�@5�7 ��-1�Ub ! 70?�(.eS$
�f~'��+1��-H��(%e,b1�Z:�� ADC . ?,EQ/>k��2-H��(���b1�%?�b1�Z:��3+B�/-H���-� �
iCk|�0?>^`�Qb1�
/546�D�8� � =!"B}B! 7 ��(,798��0?�(���:D& LED �
;�� =!</=�(%e 
%01? one photon �?>Z3 ] � 4>H
� ( < /�+1��-H�@587 ��T ��b1�U&
@ � zero photon(pedestal) �?>Z3 ] /#->T�-H�0587 ��-1�A46�D�8� �
/ ��-
k�� ADC .D&��Q(�i�?,c.�,B%iCk�� k���(��

(ADC . ) = pedestal + 1[ � ] × (GAIN) × 1.6 × 10−19[C] × 4096− pedestal

200 × 10−12
(4.6)

$,�]X � ?,c.� ^DC ] ( 1CeS! 7�� k��@#��

29



I 4.10: pedestal peak(62channel) ��� &�?�(*>Z3 ] / one photon �?>�3 ] (HV-2000)

b ! 7 $j��iCk :D& LED �
;����>=!</=�(%e ��I 4.11 �%7U0�� ^DC ] ( 1%&��Q(��

I 4.11: I 4.10 7.^ one photon �?>Z3 ] /�+B� � (HV-2000)

#B! iQ&*>Z3 ] /�+B�/-H�S5�7�L ^ �#
��0� C���^ I 1Q/ � =�7 ��(���b !�7��Qb ��~�~ PMT �U�����
� " = �	���
	@=�(%e ��I 4.12 �%7U0 &��Q(��
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I 4.12: I 4.11 7.^ one photon �*>Z3 ] /�� � channel &�}�7 ��( (HV-1900)


 � HV-2000[V] �ZO pedestal=62 � one photon peak=90 � ��� , $ �#O�� PMT � GAIN ?!BD&��3�%!
7

GAIN(HV = −2000) = 8.543 × 106 (4.7)

e �B0 �3.>=��1(��%$��
. ?�X�Y�ZA( [�]*^ ��� [ �� 1.&%7#(,. e�A�� ����91=�$S7 ��(�� HV-2000[v]

��O	� GAIN e ��

�/��d !�# HV e GAIN �����9B.iCk��3�����>=��f7�� HV . ���8� � ������� �
GAIN /ZN%iU(>$
e�eR�Q(��
$�� GAIN = G(V ) e�=%(%e�� HV=-2000 ���
.�������3;! 7��

G(V ) = 8.543 × 106 ×
( V

2000

)8.240

(4.8)
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4.3 lightguide
	�� ���

4.3.1 ����� �
	�� �
x M S1 �
����� x��
� V � ���"!'#8��/�� lightguide ��*�=���� ^ �;+�� y��'x M S2 �
���%i>k }�7 �
-Ze
T � x M S1 =����K!�#������%/ x M S2 �
���>=! 4:|�����"����=$#>$ e;?�� �%�
��% ?�& y'�)(+* �+,Q6.- �/#>$ e,?6�.T1����# j �>7%^ +0-1�1��� � �!%>=�2.j3#>$ e;? N54�M � �5#��
Liouville ��K�6%iCk|��% �1738���N)2.iCk � x M S1

� ���@=%� � x M S1 ����� � }�7 -�#>$�e � �5#��
�4~.^ �+2���9 ?

εCl '
S2

S1
∼ 0.09 (4.9)

� �5#��

4.3.2 ����� � � �
:3;5<!=

��> � � lightguide �
2��!9>= J�K0='# �>$��)?!@[e�!�7�:�E ��7Q0 �1A = �,+�� y�� 2��!9 =# �K"!'#��
4π ?CB ��D�E�� }�#��GF�/0?>^ �5 4:IH�J�K>=+L
j5#�7U0 � � lightguide M PMT � � PMT ��N���O�P1=
\.#��%$�QG=�� � ��R�S ��T�U��6���WV� 4: �0?�#��
!�i ! �%$�� 4π ?CB �8�+F[eS! 7�X3Y �CZ��+[)��i>5*#�#
j ��
 /5V����]\$^�_a`/b3c
 ���7��+d�e�f �g - �+h ��7"i/[kj ��� �2�mlS!
7���n5o	�1p � 3 ��j ��O3P@����prq��as3P@�Gprq��aK%0.c8�/)67����
-
�/#>$�l'����R�S � channel

< �1t �Cc"uS7�N�#��

1. O�P (1)[ v (4.13) w3x ]

• PMT � lightguide ��*"y�z�� � �+F.c
{�e

• | �8�+F/}r~ ��*"y�z �)� ! 7aK%0 0◦ ≤ θ ≤ 45◦ ��� ( H�J�K Ω = 2π(1 − cos(45o)) = 1.84 c
�+�
- �/#��5Q � ='#6#+� � �!o ��� (4.1) ��p � �+��s�P�l"\'^�_)`Cb�� ����K�0�c# �e"!'#��
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v 4.13: O3P (1)

� 4.1: \$^1_a`/b�������s3P�l K%0
����s�P [cm] ����K%0 [ 0 ]

PMT ��N 0 0o

1.50 30.46◦

2.50 45.0◦

PMT l lightguide 0 0◦

1.50 9.46◦

3.00 18.43o

4.50 26.56o

6.00 33.7o

7.50 40.0o

9.00 45.0o

( $�$ ���9����s3P�V�*"yC}r~ �9����K%0�V PMT
� V lightguide � x l ����� ����=GK%0@�0?�# � )

$���� ��{����+F l ��� x ~������	�WV

• PMT ��N d = 2.55[cm]

• lightguide+PMT d = 9.0[cm]
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2. O�P (2)[ v (4.14) w3x ]

• PMT � lightguide ��*"y�z�� � �+F.c
{�e

• |��2��F�}�~���*Gy3z �a� !
7!K 0 0◦ ≤ θ ≤ arctan( 1
2 (= 26.56◦) �3� ( H�J�K Ω = 2π(1 −

cos(26.56)) = 0.66 c,���r-��/#'�CQ � =$#�#�� � �'o	��� (4.2) �1p � ����s3P lG\$^1_a`/b
������K%0.c! �e�!�#��

            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

v 4.14: O3P (2)

� 4.2: \$^1_a`/b�������s3P�l K%0
����s�P [cm] ����K%0 [ 0 ]

PMT ��N 0 0◦

1.50 16.4◦

2.50 26.56◦

PMT l lightguide 0 0◦

1.50 4.7◦

3.00 9.5◦

4.50 14.0◦

6.00 18.43◦

7.50 22.6◦

9.00 26.56◦

$���� ��{����+F l ��� x ~������	�WV

• PMT ��N d = 5.1[cm]

• lightguide+PMT d = 18.0[cm]
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3. O�P (3)[ v (4.15) w3x ]

            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

v 4.15: O3P (3)

• PMT � lightguide ��*"yC}r~ ���5?5B � 1.5[cm] �m~�!�#��
c��
# z�� � �+F0c
{�e

• PMT ��N � �
l�� lightguide [���# �S� ���GF/}r~ ��H�J�K$[12���~j� �]�CQ � =$#6#�����v
(4.15) �$�CQ � ���5?CB ����� c
	 )*7��9����K�l�s3P	� ���
c! 4:+�CQ ��� � ��
 =
l
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� 4.3: \$^1_a`/b�������s3P�l K%0
����s�P [cm] ����K%0 [ 0 ]

PMT ��N 2.50 14.50o

1.50 0.0o

0.0 20.3o

-1.50 36.5o

-2.50 45.0o

PMT l lightguide 9.0 14.50◦

7.50 8.7◦

6.00 2.8◦

5.30 0.0◦

4.50 3.2◦

3.00 9.1◦

1.50 14.9◦

0.00 20.3◦

-1.50 25.4◦

-3.00 30.1◦

-4.50 34.4◦

-6.00 38.3◦

-7.50 41.8◦

-9.00 45.0◦

$���� ��{����+F l ��� x ~������	�WV

• PMT ��N d = 4.05[cm]

• lightguide+PMT d = 14.3[cm]

:3;����

$��'��� ��d�emlS!�7��ap
qR�1s3P0��prqR�1K%00�$\'^�_)`Cb5c g�� )*7��67 �/|����
	$}
~ �2��� �
�
=$#
s3P�l K%0 � � � ��� � -+~ � � channel

<�� �5#G}$c"u
�mZ�5*#%�
1. PMT

����� �9���r-
�@#
T�U
$��������'V�� � �$�CQ�������s�P�l K%0.c�� 587ad�e�!�#��
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� 4.4: d�e � ������s3P�l K%0������� �������

0.0 0◦ 14.03◦ 26.56◦ 45.0◦

1.5 0◦ 14.03◦ 26.56◦ 45.0◦

2.5 0◦ 14.03◦ 26.56◦ 45.0◦

-1.5 0◦ 14.03◦ 26.56◦ 45.0◦

-2.5 0◦ 14.03◦ 26.56◦ 45.0◦

$�$ ����s3P � ��� �
	��WV
����K%0 �)� ! 7�v 4.15 �'�CQ � ! 7
� 56#$Z����0?�#��
s+P.c
�)e"!�#$l�� �%�+��K%0rl�� � � channel

< [0� �'�CQ � 2�3f='#"}��C| �$c��Gn3o �!v 4.16 �
v 4.17

� !1��=��

v 4.16: prq��)s3P�� � =$# �9����K%0�l channel
<
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v 4.17: prq��)s3P�� � =$# �9����K%0�l channel
<
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2. lightguide
� ���r-
�@#�T�U

$����CV��5 4:+�5Q � ����� ��s3P �)� !�7��
�]j��5- �
K%0@�����r-
�0#��C|�������s�P�l �+��K
0/V"o	�1� j �0?�#��

� 4.5: d�e � ������s3P�l K%0��� ��� �������

0.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

1.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

3.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

4.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

6.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

7.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

9.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-1.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-3.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-4.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-6.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-7.5 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

-9.0 0◦ 7.12◦ 14.03◦ 18.43◦ 26.56◦ 33.69◦ 36.87◦ 45.0◦

$ �	� �8�f����	kZG Gp � !�7���prq��!s5PB� �2� ���5�'K 0 l channel
< � ��� cGo$v (4.18) �

(4.19) � (4.20) � (4.21)
��
 =�� ~ � ��� 4.5 �'�CQ � s3P �)� ! 7aK%0.c�2/=�7 ��56#]l �!V

v 4.18: prq��)s3P�� � =$# �9����K%0�l channel
<

 
p � K%0.c � 4.5 �$�CQ � 2/=�7 ��56#]l �!V
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v 4.19: prq��)s3P�� � =$# �9����K%0�l channel
<

v 4.20: prq��)s3P�� � =$# �9����K%0�l channel
<
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v 4.21: prq��)s3P�� � =$# �9����K%0�l channel
<

��h w������

n�� ��d�e���	'}r~ 2���9
c A =�73N'#��

���{����GF/}r~����'[ E ? y'� }�7 ��-��
	Wc������mZ �5\$^�_a`/b+[ E ? y'� }�7 �'#�Z��]l A ='#��
$��$�CQ���{����+F/}r~��3\$^1_a`/b+[ � PMT ��� x�� � lightguide ��� x/��

� � -����
~&��7 �'#,7� c A =�#�� (

x�� ����! 7 -�#��]V���{����+F/}r~�� ��� x ��s3P ���
� !�#�����K����;$�� x�� ����!
7 �'#�Z��]l�=$#�� ) $j�'V��%$������f�$\$^�_)`/b��1P�- s�P.c���� y'� 8$}���� � ) � � ~&������� y� 8$}��� ]l��!� � 
#"�$��!v (4.14) }r~ v (4.19) c!%������ channel & (

C��
'�(*) c�+ �, $Z�� ) c��
�.-�/ � ��0 �3?5B��
� channel [�1�#���$ �32 / c PMT �!N�����[ Lpmt � lightguide � ��# �3[ Llg l
- #$l��#2��5\$^�_a`/b+[�4���J � $ ��536���7'#$l - #$l���\$^�_!`Cb���8�4��$[�+.-97Wl��!��� PMT

�:4���J ( 4
� Spmt)
�1� - # channel &0l�� lightguide ��4���J ( 4
� Slg)

�1� - # channel & �*; σ V��

σ =
Llg × Slg

Lpmt × Spmt

l�<5#��
��}����=2 / V12?>�9
c*@/='#'Z���$'V�<�7�AC CBD>
�E$�;�F - #� 3� � V��� CBIH�J�KG$ A =.<�7Wl*7
)�<�7�A ( >�%WV (�* �+,.H#�*<�7 ��$��+e ��H�J�KWc���� - #�>�I
&WVJ>+F/}r~ � �	� � �C~LK�M�NO�*<
7�A!��� - #�>�I�&
4
P�QC[�M�N - #JA )R � A�S $�V ��T�s�4
�VU� 
jXW3\�^ _1`Cb�& �JYG"$jZ4�P�Q3[ E �[7�\ � $�U�#�W9$9]G GB^>�_�]G GB^>�I
&?$ A?` #� +��]94
�?$�a�bWc - #*A PMT W:4���J
c�\'^�_)`Cb�$9�/�*ced9�� �,W�>�I�&'[9] lightguide

W:4���JWc�fgd)l��� ��] R V lightguide
� V D�E/� \'^�_)`/bG[9�/�*cgd
- / ��7�#�W�$9]5 GBX>�I�&ml

<V6� ��?W�� channel &WV

L̃lg = (LlgSlg) ×
Spmt

Slg
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��69��2 / }r~ ] channel &WVJ>�I
& � ; � - #�W�$�]�2,>�9 εCl V

εCl ' L̃lg

LpmtSpmt
(4.10)

=
Llg

Lpmt
(4.11)

��6:��] 2 / }
~ 2
>!9WV�0��3?5B�W!N � \'^�_)`Cb5c�� ���$�� $l��: �?W��
qJW
� channel W*; �
E �
d[<5#JA

��6��9]
O�P (1)(2)(3) W$l��9W��]qJW Lpmt ] Llg c R ":$�W
�?��Wav�}
~
	��O� ] ( 
 4.1 ]�
 4.2 ]�
 4.3

W�s3P�l"|G2!$.W
K�QC}r~ ] R "�$.W!vW�]j channel �
c��C�9]��E�.W�s3PV$�|�W channel �
c�� ` #JA )�
4.11

��� 69�a2,>�9
c��C�5#$l�o�
�W$�CQ � <5#JA


 4.6: O3P (1)(2)(3)
�)� - #
2,>�9

O3P Lpmt Llg 2,>�9 εCl

(1) 10500 7350 0.077

(2) 49490 4400 0.089

(3) 109250 9867.5 0.090

2 / �]j ] lightguide W�2,>!9
c�n5oEW$�CQ ��� e �� �A

εCl ∼ 0.085 (4.12)

6�����lD;�F �!�/Z�]�� �
<���l�� ` #�$����!Q A

4.4
 "!$#&%('*),+

-/.
3 0E$�132V $�54 . ]76�>987:�l"V�;3<�=
I W><���?A@GWB4�CED /5F�G [�H�I?>ml��!��J�KML /  

}EN 
 - �G$.U7OJAA6�>987: W��PN��C�3O� �� .�Q Cherenkov RAK . ;S2�<�T�?7@UN�V�W . dominant
.

X 2 - ;S<�=
IEY>ZA[]\�<SOJA - <_^5C*]a`�b�c_dUe�\�fCBhg�QA<�T�?A@UN>i�2
�L]3j�Y Cherenkov RAK
N X 2 -3k DlRAKAmEn�N�o/O�p W�1�qE<�7r=�IEY>Z9[E$.UAOJA�sUt QAu W� �v . 2.2[MeV] W><�IAwPNxJEYy w�z�$.UAO 90Sr N!%9{ �� �A9|�PG<�}=�>N -�/E~ ]A6�>98A: Q ;S<�=
I W��A� .E� 6�� 2�\:<SOJA#��j
� ]�����d��E<.6��#d�O�W Q��5����)E� c��9;S<�=�I W���� ) W�}V$�U?6:�9]�� ���9)E� cE`�brc>dUe�\ �
���a���3e*$ Q k \��/Dh�3^?<�7 2�\�Y��GW_� 4.22 jM�
�Ej3OJA
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            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 4.22: =
I���W>6�>98A:

3 0E$������: Bethe-Bloch W�� � N�<�I,% .�	 b��� �
�W Q

dEe
Co

dl
= 2πNare

2mec
2ρ

Z

A

1

β2

(

ln(
τ 2(τ + 2)

2(I/mec2)2
) + F (τ ) − δ − 2

C

A

)

(4.13)

F (τ ) = 1 − β2 +

τ 2

8
− (2τ + 1)ln 2

(τ + 1)2
(4.14)

τ =
<�I W
��� ����)E� c
<�I W���_ ����)E� c (4.15)

$�@ ` � / O*A 90Sr W><�IAw 2.2[MeV] - <>^5C β = 0.9726 N���� - O�\ dECo
µ

dl
= 1.8[MeV] \�<�� ]����� N ∆l \����

dECo
e

dl

∣

∣

∣

β=0.9726
× ∆l = 2.2[MeV] (4.16)

2 / N�� d>\���� � ∆l
Q ^�KSj . RAKAm��
4EjM� 1cm g�QV$VU7OJA#2�W�� �"! . RAKaL / O�#%$/��e'&( > Q ^�K�j,<�W�$�] PMT
.�) d�> QAu W�*E�/D�Y�<�T�?9@ .E� O'+�e,#a��c�+.-�e�>]\l� ` O*A32:W 2

\�N�/�0 .�1 �325476 � W>6�>98A:PN��3vSO� �v�� 4.23 W � 4!<98.: � 1 :<;�N,=5� F A
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            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 4.23: 6�>98A:���� W"8.:�� 1 :<;

<�IAw�z 90Sr W -���� 1cm jM�
RAKML /  ><�T�?A@ .E� O�> Q	��
	��. ��O�


Ncl =
2.2[MeV] × 6�>98A: S

Ep
× ( ��K	������: = εtr) (4.17)

\*7B4X>�I
& . <V6��.7�O Q K�$�U7OJA�� F �L]O2
2�� Ep

Q H�I���� W9> .������ < ����) � c��.U7OJAu ���� "! .�# � / ��$�% �a� )5Q � 4.24 W � 4 . <V6&��A
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� 4.24: 90Sr N��V7"����� W����

� cS� Q 146channel
.�� / ��7�OJA#2�W � cS� Q ]  "! .�Q signal devider ��0�� . � G �	� ) $,<�W

��]O2�W�pPN�

� ���

1

2

2.2[MeV]

3[eV]
× S × εtr × 0.09 × 0.2 × G(2200) × 1.9 × 10−19 = 210× 10−12 146 − 60

4096 − 60
(4.18)

2 / N���7'��]

S × εtr = 1.02 × 10−4 (4.19)

\�<SOJAO2�W>6�>A8A: \���KA8A: \�����87: W�� Wr�PN3`�b�c_dBe9W���� . 
���� - O�p W������ Q /�1
W \�i � �.U7OJA
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�
5 � � �

/A0�������]��	� W	� 4�
�c
�rY � ��6&�
W����� �� . ��O�2�\ .�� OJA R�� W� ���� Cherenkov >�N��
� � O . U��.� ]P`rbrc>dUe�W�RAK9m n&��W><�T�?9@ .�� O��
> Q�� G OV2�\ Y�� �J<�7�A u W���v�]32:W� Y?W��,>�N��AT � O�2�\�Y>ZA[ \�<SOJA
5.1

),+���� ' �"!
��� . U�� � =
#<�%$ � �'& �5N)( � .�*���+            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.1:
�'& �

����d � G � ADC ,9�]\ TDC ,9� . ��j�-��/.7O + 2 0�W scintillator W coincidence N21 � u - .���3
� ADC W gate 4�5Si �76 TDC W COM 485M\ � O +
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5.2 TDC

Cherenkov �]\ scintillation � ( <�T�?A@ )
.E� O���<��������3jP�:W�<�;��	� $ Q �AT � �
��.7O�W�j9]


 �.d Q�
�� . �7^�L 3 � 1 Y?W	�
� $ .
��3 ��.�O�W F�� 4�j +�� W � \ Q ADC W��Sc ��N ��� � O 
. V�W . �9[���UAO +�� -EN)�/O&��v . sBt Q Time to Desital Converter (TDC) N ��."�  �� � O � \ .
��� +

5.2.1 TDC �������
TDC \ Q ] V�W . �8. 
7!�!��EN�	 � ] u -�N channel \"���
��� � O module ��U_O +��83 � TDC(LeCroy �!

TDC3377) W�"A[ \$# �PN)( � .�*���+
1. degitizing resolution 0.5ns ( %	& 0.5ns �������SH�' )

2. 32channel CAMACbus

3. Common Stop Mode

4. Both Edge Mode( (�)�*�+-,�� �/.
,UC � Y �1032 . sensitive)

5. full scale 1024ch(=512sec) . 1ch=0.5ns

6. double hit resolusion 8ns (8ns ( n . one channel
.5476 + event Y��	8 � OE\�������q � . + )

� + TDC N���j.����;A�
9�4;: Q Appendix
.�< ."�3=7O +?> m ��. D;+&
9!5N�@/OrjENA.A� 5.2

. �
j �CB �ED �7\�v � +             ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.2: D;+&
�!�!���NF@/O�j
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ch1,ch2,ch3
Q /�1 + � ��8 :A� 1 : ;�� 5.1 +��5e�� 2�e;9�\ f����
=9O + �	��

� � TDC + calibration

N3\ 3 � +
TDC +
� �
�	� $ .���� � . 
 Delay N>j G � . u +&
?. - ��+ COM 485M\ pulse +&
�!�� (=Delay

+�� +module
.E� O��8- ) Y TDC +�� channel

.
� O�j .��Mt � 
9! + Delay N>j G �� ������ +
u +����PNr� 5.3

.�*���+

� 5.3: TDC channel \�
9! (nsec) +
���

� ��Y k�� 2
.
��3 ��.�O � \�jM� . TDC + 1channel ∼ 0.5ns �	=7O � \�Y9^7j3O +
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5.2.2 TOF ���������
� . . TDC + ch2( � + scintillator) \ ch3( � + scintillator) +���c
� .�6 .'� 

	�O + � +-0�� Q � �
+ plastic scintillator N ��."� TOF counter 2 \ ��3 ��.�O + COMMON STOP 485 .�Q ."� � + plastic

scintillator +�
���+ coinsidence( f�
 signal) N��8.'�/.�OrY . � - .�� ��� t?+ scintillator +�
���Y 
9!��. D�- F�G T -���.�O�jEN ch2 \ ch3 jM� �BO � \�Y3��qUO +5u +�� +�� Q ch2 \ ch3 +�
���
�! � .� � � � . +��3� ^5C�."��+ scintillator N � 3 �E`�b�c_d/e�Y � + scintillator
.����
� O�+ . DF+ D ��.


�!5N�ZA[]\ � O�jAY . � + 4$6 + �Sc
��jM�h^7j3O�+��	=7O + � -7Y�� 8.: � 1 :�;�+ TOF ����e �>c
\����3+������� �3=7O + �������U4�C 
 6 +���c
��Nr� 5.4

.�*���+

� 5.4: �EY ch2 . � Y ch3 +��Sc � + HV-1800V
+

peak Y 476 =7O + Q ( )�*�+ 032 + edge
.

sensitive� ��v +

� � +�
9!�� Q 5.2±1.86[channel] = 2.6±0.93[nsec] �	=AO +"! � � + scintillator +�! �7Y�# 1[m] �	=
O � \9\C.7`�b�c>d/e�Y k
� �%$ �'& 3 � D O � \rN 

	AO7\$. �>m TOF

Q
1[m]÷(3 × 108[m/s]) = 3.3[ns]

\)( � 
�-5O�Y � -B\ u 4+* D � .%�PN # O � \ Y3��q � +

2Time Of Flight counter, ,�-/.10�2436517+8�9;:=<;>@?@A4BDC@E6F@G/H)I1JK9ML+N/H)I6O;PRQ4S6T6U
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5.2.3 ADC � TDC
��� jP� . TDC N)�Aq�+�� ��� �8.�O + ��� �
��� � +��?� � O��	���	� $ ��Q � �A� =7O +�j ..
 �D�Q 
 �7����j � . +�jEN�
 	EO + � +
�����3� $7Y  
� ������� )�+ )PN ���8.�O \ � ��� ( � 5.6 ��
)
+�� )EYAi � ���M\ . � pPN            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.5: PMT output +�)

h = k × a (5.1)

a = pulse +���� +�� (5.2)

h = pulse +��! (5.3)

� i�"�O$#
%��
& k Y �(' ��.
�P\*) ���,+ � \ ���,+ +��,+ \ u + TDC � (width) \ ADC � ( �	�
- ). � +�/���� ~ - + � \�Y>�Ej + +
ADC � =

ah

2
(5.4)

TDC � =
a(h − t)

h
(5.5)

ADC � = (
k

2
)((TDC � ) + (

t

k
))2 (5.6)

�����
t
. &Se � ��c
��+ threshold ���3= + + 
 � ADC � \ TDC �10 4 �2� +39�4 ( � ;A�%: �����

� . �	� $9Y � �A��= +�� �
� ��+ k Y 4$6 = + � \ �
� � 476 + 4 � ��&�� fitting
�,+ pEY�� � + . �3 � . 
 �9����j
4
5�� � . � � 
 6 + k ��j
4
5�� � . +��76 6 + 4 � ��&��.��j fitting ��q � . . �

�3= + +� � ch1( R�8Am ) +��Sc ��0 u + ����� 5.6
��*���+
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� 5.6: TDC channel1 +��Sc
�
4 = + peak Y
4
5 �,+ + . &Se � ��c
��n��3+ ��8�*EY threshold � �%��� ���.� � � � �EY3= + jM�

�	= + +�6 � �/. ! +���� 0ch jP� 60ch ��� � �"� D + 4$6 + peak
.  �� ��c ��\ . � ���]\�� 	 + +��

+ � {�� � � cS�
0';A�
9�4?: �E� ����� � u +
	 � (60ch ( &	+ leading edge \ trailing edge +�� ) 0-.u +'6_�PeP� ��� 
 �,+ ADC � \ ��^���� plot � � D � . � � � . +� + 
�
 +
�� 10�� ��3 �����3� 5.7 0 # � +
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� 5.7: ���EjM��� � &Se � ��c
��+ threshold Y 15mV,30mV,70mV,150mV +&


� 5.7 0�(�- ~�� ��j �5��� ��� + ����� threshold + � �&��� ���3
 dot
� . 
 �A� + 4 � �	&�� �� 3 �/. + +�6 ���/. Cherenkov R 8AmEn&����� ��� Cherenkov �B\ scintillation � . ��� ��� � � ���	3

�	�	���3� $ �	��+ 
 � . 
�� �	��3 �.� � 3 ��. + � \�Y �	��
 "P� -�� + � +�p� . . Cherenkov �
+	# 0�$�% �a�1� + peak \���� # + � \;+
����'��10
�	� ��*�� ����. + \ ��	 � � +
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5.3 ADC ���������
5.3.1 settings

(��EjM� . PMT �?� � . Cherenkov �]\ sintillation � +��
	EY3��q���. � . � \�Y>�Ej 3 � + � . �
+ ��� � � � Cherenkov � +���� 0�(��/. D j/\). ��� \ ����+ + 3 Y . Chrenkov � +�
�� � +��! 0��
� ��� .�� 5.8 + � � ����� 02 �j� �� � �2" ���
��� 
 ���10 � 3 � +            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.8: 8.:�� 1 :�;

Cherenkov � . `�brc>d/e�+�o �	2�� � ��j�� �� )- � .�Y . scintillation � . 4π 2�� � � + + � . �
�
0����
"���� �
. Cherenkov � . � 2�� � � + +�� PMT

� k \�� � �	8 � �;. scintillation ��0 dominant��� � �,+ � \�Y�� � + + � + 2
� � +� �����	3 � # � -���$�% �a�1� 0 #"!���� Cherenkov +#���101 � � � � \ � ��� +$ # � � + �'& . /"% +_� 5.1 �3= + + 2 0�+ scintillator + coincidence 0 gate \���� u + \�� � 3 � +

PMT 0 ADC � $ # � � ��. + + � 
 ��� ��� + \�� +-*�)�+ �	�10 )�����
?+�0r� 5.9
��* ���Ai D +
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            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.9: time chart
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5.3.2 spectrum

� 5.8 +F# � � u -���- 100000sec � 6 o � ���/`rb�c_d/e �E�
+ ��� + $�%E�a��� 021 3 � + �Ej.���
;A�	9�4?: . Appendix � � + � \ +�# � -���$�%E�a�1� 0)( � ��*���+

            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

� 5.10: ADC $�% �a�1�

� 6 + ��� � + $&% �M�������	� �  � � 1 3 � $&%�

�1� � Cherenkov ��� scintillation �	� �	�� 3� . + +�� � �  � ��1 3 ��$&%�
��1� � . scintillation � +	#�+�$�%�

�1� ����3 � . + + � count & .� � 8199 . � � 8232 �3= 3���+! � ��. � �	� ��� � + ADC � . . � 6 +�� �	��� ��+ � PMT ����� ��+ � -���� 	 + � � �
��+ +��$ #��� )- + ADC + channel & .! � $
 )- � )"� ��+ +�#$� � 3 � .$� 	&%�' +�(*)�

� � � Cherenkov

� � + � channel &�+,+.-7.,/ ��0	1 � �,+ �32
����- + +
� .54	6 ��� 3
3*�&7 �)( � # + �7. � +&(�)�
��1� + channel &��  � $� - � . 600channel = ��8 �
��9 D;:�< � � +�(�)�

�1��� . / ��0�1 � # � 1000channel = �
8 �$��= 6 � . + +&��� 7 + +>#$� � 3�

Cherenkov � . � �5�?- � . + � � ��� ���	�?- +�+ � � . � +5(�)?
@� �BA�C +,D�EF� # � 1000 G
2000channel = �
8 +�H��3= + � . � ->I � +�J�K	1 + � . ("L2- � . � � 7 L Cherenkov � ��M + I?+3 �ON	��- + + � +&(�)�
��1� 0$P5Q��,R�S ��T �10 � � +
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�
6 � � �

6.1 ����� 	�
 �
��� ������ ����� 4�� ����� 7 L�� � L"! � (�)�
��$# �&%(',+*)�+ 0 �-, �/.
2 0 �2143 �"5 376 � � (�)�
��$# �*8-9 7 L��2:�;=<(> Cherenkov ? ��@�A4B )DC�E&.
2 0 � (�)�
��F# � +.-G, 8-9=B � � >&H I 'DE �"�

1. J&K 
 ��LNM-�PO ! 165[channel] → 250[channel]

2. J&K 
 � QSRNT �VU 50[counts] → 20[counts]

3. W C(E channel
�*XDY

600[channel] → 2000[channel]

4. J&K 
 M�8 / Z � QSRNT � ��[ -
\ �*8-9 >P0 9 � � )�+ B^]�_ E&.
TDC

� 4`� 7 L/� Cherenkov ? B �`: 'DE&acb �Pdfe�%�'D> MGE�g #�(>� Cherenkov ?=> MGE�g #�(��h �ji k � PMT
7 L�lGmnio! � 9 E&. \ � h �ji2k � �N� ADC >�p(! E d2q`U"I"r C(E \ �&> , 8 � �� � # � � ADC
�*s '

channel t b PMT
B^u�v -f> #���w h ( d e5%�' �`xcB W E�w h )

M�8 I +?-�yz,E&.
Cherenkov ? B ��: #���{ M-� a � (�)?
��$# �P|�}=<D>,+.-P, channel t�~,� QSRcT � # � 9 E �b \ �&� �c� 8 ��W C(E channel

�*XDY �*+.-�y 8���� b � \ ����� �c� E&.
JGK�
 ��L M � QSRNT �VU �o8-9 b �`d2e�%�' �`x�� (�)�
��$#�� b �4JGK�
 b ∼ 165[channel] �c� 8 �QSRNT ��U ∼ 50[counts] �?I �z���(� (�)�
��F# M�8 I���y�� Gauss ���S>&����� 9 ( � b*� k � I��N�S������ 'DE7�

)
. \ ! b ��d2e�%�'-> MPE�� ?`� �7�N� ���N�D~ 8 8-9 � , 9 7 �=� b �c�Sk � y ED�f� K  T7� �N� � �(¡`¢ � :-, � 7 �c� E&.£�¤ M�8 I�¥ ¤ � ¡ � � � ¦ 3 Q ��� § < )�+ 7 L�I�¨-©��c� EDª")DC L"! E&.JGKc« ��¬ Mf­ 165[channel] > , E � b � � § <c,G®2¯B�f� �f� K   T7� �N� � � +°~ 7 > 0.2[GeV/c] ∼

3.0[GeV/c] ~,� �`±�²³ª # � Iµ´.L�! EG. \ !S> %F# � Cherenkov ? B ��: '-E�{ M � b �µJPK=« b ∼
250[channel] � QSRNT4¶ U ∼ 20[counts] �c� 8 �2·�¸ b � Gaussian

M�8 I"¹ºy&JPKc« � /NZ � �����G»n¼� 9 EG½P¾ B�¿SÀ � 2 0 � (�)-« ¶ # ��JGKc« M�8 / Z � QSRNT4¶ U ��[ - � +.-�y 8 k � 9 E&. \ ! b �d2e�%	'B��Á � channel t B^s ' � �N� � 0.2[GeV/c] ∼ 3.0[GeV/c]
� �2� K   T � Cherenkov ? ª h �i E \ ª > M k �fÂjÃ , channel t B ª k � � �N� 8 � ­ ���`� �-JGKc« � Q=RNTj¶ U b*Ä 8 �jJGKN« � /ZNÅ�� �7[ - �GÆ=Ç 7 >N,=k � ( +
-G, channel t°~,� QSRNTµ¶ #�� )
� �c� E&. � § <(> b � Cherenkov? � W C � b � � � � M�8 I �7� K   T��&È2É`LNMD��Ê�Ë � +?- 9 � � 9PO !=> #�Ì I"�`dfe5%�' M�8 IO+

-G, XDY(� channel t B^s ' �2Í ��Î � kGÏ5(*)-« ¶ #D> ,=kPÏ ª")DC L"! E*.
:�;=<(> )DC Ì I�� 2 0 � (�)-« ¶ # �*8-9 7 L Cherenkov ? ��@�A �7Ð _ L"! E(ª N � .
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6.2 Cherenkov �������
Cherenkov ? ª d2e5%�' � h�� ifkGÏ&(*)-« ¶ # 7 L/� Cherenkov ? �
	 � M � >GW C2Ì 9 E ( �4i*! Ì9 E

)
7 �B(�)-« ¶ # 7 L 2 0 ��6
�f1 (c> MPE ? B�� e # � Cherenkov ? ��� � B��=_ E&.

Cherenkov ? ª d e�%	' � (�)-« ¶ # 7 L Cherenkov ? �����µB 	 � M � > #*Ì������ !�� 9�9�� ,
­ ����°B � � >"!=� E&.
# � � b ��d2e%$
& ª Cherenkov ? � h'� i kPÏ { M=Íc�"( ªo'DE&.*)

1.
\ � a ��s '

channel t b d7e�$�&,+.- � channel t ª Cherenkov ?/+.- � channel t B10�2 Ï	I �7Í� E � L����@L�!cÏ channel t � L/�Gdfe�$3&�+4- � channel t B�529 Ì � ´&!'��687 � � Cherenkov? � channel t�> , E&.
2. �@L"!=Ï channel t � L���d2e%$
& � channel t B�9 E > b �2�;:"!=Ï channel t �/	 !³y<: 9�� �� � � �f� K   T , �=� � �>� !'� 9�9 .G� � � � : u ¯ 2 Ì ��d2e%$
& � channel t B��c_ �
? �

channel t � : 5�À ��� Cherenkov ? � channel t � �>� E
3.
­ �<@ ��A
B Í b � È É�LNM >>C`k Ì channel t ��D,� yFE � E �2Í � channel t � : È É�LNMnB A
B 2 �N� � B��=_ E

4. G � � � � �IH :S> % 2 � channel t ª�� � � � t b 1
%

1
%3J Í b ,�y�� 1 0 � channel t Í
K �<L0 �N� �2� � � tS>f, E \ ª^� � Eo. \ � acb � ±`²�ª , E LN0 � � � � � � t � :MG � � scintillatorÍN� A3B channel t B ®f¯ 2 � ­ ! � �ON @S� G � � scintillator

�
channel t ª7­ �3P Q K �oXDY ÍR ~`k Ì 9 E �=� 	 �S��Í�H : '(E

5.
\ ! Í
KTH : Í � , 9 w h ( UD>&� D,� , � � �%V � ) >�W 2 Ì(b �=Á"X�>�Y � (

D,� , � � � Í �f!
��� Cherenkov ? b � :�t�> , E �2Í � Cherenkov ? ��� ��>3W 2 Ì(bZD,� ,=[�\j> b ,,:o, 9 � ��7� K   T7� �N� � � � � bZD,� ,=[�\ � l Ì y E )\ � C � ,�5 63� K�] Í Cherenkov ? ��� �N� È É �f� K   T7��� � B��=_ Ï .2��,2 � \ �O@ >*��^
_=<c,Z`�a`|�; � L=0 � ��kPÏ .S­ ! B�b
c >�Ij´ EDª �

•
P Q K�> %�'DE*)�+�. �;:"!=Ï channel t ��d :Ze B )`+ f O >*� � § <c,*t ª1g�h 2 � �N� � B��_ Ï \ ª�.

• G � � scintillator
��P%i #>j`K � ^3k �Ol y��OG � ÍZm W � W C , 9�n K�oP> % 2 Ì�b � )`+ 2.p !O �rq�s 2 Ì 2 ~`kGÏ \ ª�.

• G ªut , Ef� � �N� � �"vr� , H : ��@ � ±�²�ª , E | Ì � � � � � :wA
Bµio! E G � � scintillator� J�x ª N @S� G � � scintillator
� J�xD� PrQ K �*XDYNÍ
K %
J�y � , 9�KG�cB q�s 2 Ï \ ª".

PrQ K�> %('(E*)�+ � � § <c,<z�{�i���G � � scintillator |=} É } �3P%i #�j`K � ^3k � l i^� \ !~:� [�\ ª 2 Ì � E�� Í �N� � B�H : 2 � Cherenkov ? ��� � B��S_ � ­ �����4B � � ���DÍ�� ' \ ª > 'E&.
(
\ ! � �-l���Ï���7 � )`+ , �2Í . )

6.2.1 ���������/�/���8���;�
G � 5 63� K�] Í � � � BS� : 2 Ï �`�jB �%� > � 'P. ~&Ï*�f| Q=RNTj¶ U�> % 2 Ì � \ �&���=Í�� : Í� Ï QSRNT4¶ U B � ��� >D~ ª _ E&.
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���������
Cherenkov 	�
���
�
��

�
6.1: | QSRNTj¶ > % 2 Ì � �N� � � H : Í � Ï QSRNT4¶ U| QSR T4¶ U 8199� n�� o*# B q 9 Ï QSRNT4¶ U 6353H : 2 Ï QSRNT4¶ U 3222

\ ��� � H : Í � � ­ ������� �N� � ��� � b�� (6.1)
� C � >2, E&.

�
6.1:

�f� K   T7� �N� � ª QSRNT4¶ U
[
�f� K   T7� �N� � [GeV/c]

ª QSRNT4¶ U ]

\ ! B � È É �7� K   T7���
� Flux(
�

3.1)
ª4g�h='DE Ï _ � c�L��nB � 3.1

� C � >�E�� 'DE&.­ �O@ � 143-¶ 5 3�6`� { M ����: a�� � � 6.1
�

bin � Í�Q=RNTj¶ U B � :o, À :��`,,:�, 9 .�� Ã � tb �143j¶ 5 3�6�� { M → 10.00[cm2str]

��: a�� → 105[sec]� Q��2�
bin � → 1.0[GeV/c]ª , E �2Í � � (6.1)

� QSRNT4¶ U B 106[sr · cm2 · s · GeV/c]
Í � E � � � Â , � Q�� > , E&.
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��� bS�f� K   T7� �N� � [GeV/c]
Í ��7����� bS�f� K   T����
����� [counts/s·sr·cm2·GeV/c]

Í � E&.
            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�
6.2:

�f� K   T7� �N� � ª ���
[
�f� K   T7� �N� � [GeV/c]

ª ���
[counts/s·sr·cm2·GeV/c]

\ ! Bo� � ���3� Flux
ª1g�h 2 ��L=0 �c��m 8
	nB � >D~ ª _ E&.

(1) 1[GeV/c] ∼ 10[GeV/c]
� �S� ��D C ­ ����2 Ì 9 E

•
� § t :∼ −1.23

•
� N�� :−1.23 ∼ −1.70

(2)
���-�

order
�

1 
 8 k Ì 9 E*.

(2)
����� ª 2 Ì(b �

•
H : Í � , � kGÏ n K'o ( � Ã � )(C(E | channel

��m W � W C , � kGÏ � )
����� U � y��,7��NÁ �

C � ,���� Í � 6.2 >�G�� x i*! EDªo'DEDª �SÁ �   K��GK�> b�� ~`k Ì y E �2Í b , 9
�����S� .
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• bin � ��� i .Zg=hc'(E&a >*� bin � Í �4k Ì 9 E �fÍ � K k ª vr� y 2 Ï
:wE � E � Ku9 !�, 9 . ( �� ¶ � Q��c� � � t � E C � � �'� : O � \ � bin �S> ,�7&~ 2 Ï . )

������� 
���
�
��
� ª Á Â > 2 Ì � | QSRNT4¶���� � �N� � � H : Í � Ï QSRNT4¶ b

�
6.2: | QSRNTj¶ > % 2 Ì � �N� � � H : Í � Ï QSRNT4¶ U| QSR T4¶ U 8232� n�� o*# B q 9 Ï QSRNT4¶ U 6672H : 2 Ï QSRNT4¶ U 3300

�N� � � H : Í � Ï QSRNT4¶ > % 2 Ì � ­ � � � � � � b

�
6.3:

�f� K   T7� �N� � ª QSRNT4¶ U
[
�7� K   T7� �N� � [GeV/c]

ª QSRNT4¶ U ]

� ª Á Â > 2 Ì � � § <c, �
����� ª1g�h='DE Ï _ >&� c�L��nB	� C(EDª
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��� bS�f� K   T7� �N� � [GeV/c]
Í ��7����� bS�f� K   T����
����� [counts/s·sr·cm2·GeV/c]

Í � E&.
            ��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

�
6.4:

�f� K   T7� �N� � ª ���
[
�f� K   T7� �N� � [GeV/c]

ª ���
[counts/s·sr·cm·2GeV/c]]

\ ! Bo� � ���3� Flux
ª1g�h 2 ��L=0 �c��m 8
	nB Á Â > � >D~ ª _ E&.

(1) 1[GeV/c] ∼ 10[GeV/c]
� �S� � � ¡ 	 C�7��³y�,�y Î � k Ì�¬ 7�� 9�9P��� ª7b*� 9��-9

•
� § t ∼ −1.23

•
� N�� −1.20 ∼ −2.00

(2)
���-�

order
� � � � � > Ä k Ì 9 E&.

(1) � (2)
� ��� ª 2 Ì(b �

• | Ì � channel t b dfe�$3&->'C E KG�fÍ �,7��Pdfe�$3& b"D,� , � � � Í b`¡`¢ � :`tS>2, E �fÍ ���� l��-, � kPÏ �N� � ��D,� ,*t Í��>� kPÏ �=Í b , 9�� ª
	 �
•
\ � a K Á � C � >*� �N� � �f)DC(E m W � :ws(!2� H : 24p !�, � kGÏ KG� � � U � y���7V� ­ !� C � � 6.4

� QSRNT4¶ U �
� i�y�,=k Ì 9 E �2Í b , 9=� ª
	 �
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6.2.2 Cherenkov � �����
� �(� w h > 2 Ì K � order

b 8 k Ì 9 E ( ^3_c<c, KG�fÍ � �S� )
� ���`· b �2§ <N, È2É �f� K   T���
�

Flux
ª	�DÌ 9 E \ ª K ��7V��
�� 2 Ì 9 Ï KG� � � �f� K   ToÍ � E
��� > ,=k Ì 9 EDª
	 � . \ !� :�� �f� K   ToÍ � E \ ª�� H :µi*!=Ï ª 2 Ì � Cherenkov ? ��� � B��=_ E&.� 0 � 0 �<n K'o (channel t )

� :�� �N� � � H :4i*!f� ­ ! � :/�`d2e%$
& ���jB ®2¯ 2 Ì ? � channelt � : 5 9 Ì | E(ª � Cherenkov ?S>>C E channel t � � ~ E&.­ ! B �N� � � H :4i*!cÏ�| n K�oP>�W 2 Ì�� , � ª � Cherenkov ? �I� � (Cherenkov ? � channel t ªQSRNT4¶ U � W�� )
� �>� 7�� ­ ! b � � � C � , � Q�� , E&.

�
6.5: Cherenkov ? ��� �

(
\ ��� � b � n�� o*# b q 9 Ì � E&. ���cÍ � 3.2

b � n�� o*# (60channel)
B�� C Ì �
��2 Ì 9 E&.

)K 2 ��d2e%$
& � g # � ª Cherenkov ? � g # � � � e Í �&Ì 9 Ï ,,:/� \ � Â , � � � W ! Ì 9 Ï KG�ª
	 � ! E&.
\ �

Cherenkov ? �I� � � : �>� E \ ª B � � >D~ ª _ E&.
• �3Xn>��
G�> �2� K   T � �Sk Ì��&Ì 9 E-ªo'DEDª �%s2ZcÅ � >2�Sk Ì��&Ì 9 E � � �S9 Â Í � E&.# ��� g � : K ¨-© Í � ��� )
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•
­ ��LNM >�� Ã , �N� ��� �f� K   T � È É~2 ������,SJ&Kc«f> ,=k Ì 9 E \ ª � :	� Cherenkov ?>'C E channel t �(¡�¢ � : ª , Eo�N� � V � (0.7[GeV/c] 

G )

� � y 
��µi��=Ï
� Í b , 9 � ��S�S� .µ�f� K   T � �N� � � � ª1g�h 2 Ì x EDª � 0.7[GeV/c] 

G�� �7� K   T � �S9 ª , EDª �
| b 7 bin � � �S9 Ï _ > 0.7[GeV/c] 
 � � �f� K   T`B�� ��� 2 Ì 2 ~ 9 � �f� K   T � �N� �� ��� ��� � order

�
� i�y�,ck Ì 2 ~`kPÏ
��� ��� .
6.3 identify

�������������� "! #%$


 � >��Pdfe�$
& ª Cherenkov ?&� h'� i2kGÏ � � « ¶('NÍ ID
�*) �
+�� k&Ï ª \ � > )%,2Ì�­ � ���

|-�
. C :/� E�±`² > )%, Ì !=� E�0
ID
�*) �%+3� kPÏ XDY b � ­ � � � « ¶1' � channel > 2 Ì � 1200channel

� : 2000channel � � inyÆ | �%+ JGKc« B32 kPÏ XDYNÍ � \ � XDY > b ® 600counts � g ' � � �(kGÏ 0
ID
��) �%+3� kGÏ �n�NB 
 � >�. C(E \ ª >54 E�0

1.
\ � � � « ¶1' b 1200channel

y � Í count U � `�687�> + k Ì�,(E:9�0
� Ã ��.
; Í b � ­ �>C ��+ `�6�7 +�<�= > + 7 � E
> ��?�� b WN©NÏ/: +3� kPÏ �

2. @D> �f� K   T � ª @ : 2 Ì . C2Ì x EDª
(1)
�N� ��� D,� + �f� K   T �BA=k�;
� § <(>�.-; 2 Ï XDYNÍ b � �N� ��� D � + �f� K   ToÍ b �(W C�E channel t b R-C 4 E C �> � :�t B ª 7D� \ �>C � >�� \ � XDY ~ Í channel t ��D,� y + E \ ª7b . C >µy ,50u >�� \�\ > � :�tS> + kGÏ Cherenkov ? ª d2e�$
& � ��kGÏ + :"�:�PÎ XDY � � � ��� �7� K  T � \ �FE 7/� channel >PW C(E \ ª > + 7D� ­ ��� ª 4 EDª �D�D~�7�> count U �BG +�H eE�0I, O �=> f C3�*J8K 2 Ì 2 ~ � .
;-> + k Ì 2 ~ , � D,� + �N� �%V � ª7b . C � ,50

(2)
�N� ��� � i + �f� K   T �BA=k�;
d2e%$3& ª Cherenkov ? � h�� ifkGÏ a � � :�tS> + E C ��+ I � BS� i + , � b � �N� � � �i + �f� K   ToÍ � E�0P�N� � �
� i ,jª 4 EDª � β

� � i , � Í � E � :L� ­ � a=b ��} É }
�`Í D,� +=P%i�' j`K loss

B�¿SÀ E�0 \ � ª=� �=} É }�> È E ¥�� �f� K   T �FM�i βin

ª � Pi�' jPK B &jk Ì } É } � :^l Ì�, y a � βout > bZD � +FN � l Ì y EF0c­ �3+ E(ª �OG � � �?`��> N � l Ì y E2b ONÍ � E�0O .µ~ Í >���G � � scintillator � channel t ª��f� K   T � �N� ����W�� BQP � � Q�� > � 4 0� i ,*� � ��V �(Í channel t �SR*T >or �~2 Ì�,�E2¡ � � ��} É }�� � >`� E � P�iS' jPK lossB�¿SÀ Ï �f� K   T �SU4E � � scintillator
Í � E�0
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�
6.6:

È É �f� K   T >��I4 E G � � scintillator � J�x

\�\ Í � D,� + �N� �%V �DÍ ����U����µk Ì8,�E � b G � � scintillator � J=x ��[�\ Í �,7D���	 + 	 ��[�\ Í � EF0
\ � B W Ì KT�'� E3U 7 � � §�
�� b � � i ,*�N� �%V �DÍ b G � � scintillator �PW�
 � ��D �y�� + k Ì y�� \ ª ��+ � 0


G�����~�
 Ì ���
N���� \ � X(YNÍ b �OG � � scintillator

�/	 �'C �3+ channel t �*+ k Ì�,Ï
� � �7W Ì x � \ ª � 4�� 0
~ O � � � « ¶1' � 2

) ���jÀ � 0
1
)Nb

ID
��) �
+�� koÏ��T} É }�� 1200channel

� : 2000channel
0 \ � ªO� � G � � scintillator� s 2 Ï channel t��:� ” � ( ��� + :"��� � ��! , � )” � Í�� 4 \ ª � 4�� 0

2
)�"�b � 1200channel 
 � � ª=� � G � � scintillator

� s�2 Ï channel t��:� ” # ( �$� + : 2� " �%! , � )”
Í�� 4 \ ª � 4�� 0� � � w h Í ��G � � scintillator � m W b � �'C �&��+ k Ì8, � 0�

(6.7)ch2
b � � scintillator

0
�

(6.7)ch1
b G�� scintillator

Í �'� 0
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�
6.7: G � � scintillator � scatter-plot

“ � ( ��� + :"� � ��� , line)”
Í���2 Ï line

b � � §�
�+ ®2¯ Í � � §�
�� b ” � ” �>C ��+Zm
W �8+ k Ì�, Ï b ONÍ ��� 0 # 	 kPÏ�C 7D�`Î � kGÏ m W �8+ k Ì�¬ 7D� \ � b � > Q � ]��&«
scintillator � P%i�' j�� � ^
k�� l i�� � 4 K � ª
	 � � � 0*)
\ � �7W Ì ��� � U 7D� � i ,&�N� �%V � � �2� �   T*Í b � ch2 � ¡ �&��5 k���:/� � <�=��+ � b
	 Í�� � � �=N @�
 �=G � � scintillator � m W 
 � 2

) ����� Í Á � C�� +Zm W ��+�� Ì, � 0

� �/C�7D� ID ��� +3��� Ï���� 
 � �f� �  �� � �N� � ª 
�� W����>C�� � 	 
�� 0
P � � � ��Å � � � ����� '�� � � C � K � + � � �
.�
 :/� ��A=k�!���
 � �I� 4 0
1. "��$#�%��BA=k�!& �(')
*� � � +),�- proton ��./% - +�01� ��2BA�k�! K � � 043*5 
/6478')
 �:9 	 Cherenkov; 
 #�%�� t:< �*
=� W � ' ��.4>�?A@ M < 'Z� 9 � 0 '�� � � :L� proton � electron �:BDCD�FE � �' K E)G 7 
-+ ,50 .4H%$
& �/IJ� 
 �(K4? � W/G �$LNM �-� 
 �/O (2.63) O (2.64) C>7D� proton �
B
C4�FE � +�0 t >�.4#�% ')
 ln

( 2me

mµ

√

1 − β2

)−1 ' P , LNM � 0 � � �=Q�R�7.|%4 MF�TS 2
� � �
U � ��'�� � 0 � � 
 ��BDC4�FE � (“ � ( ��� + : � ,FV � line)”) � proton(“ # ( ��� + : ! ,�V �
line)”)

'(WJXZY*[ ? � � S=L�c�\�] < E_^3�`.4H*a�b/?�� �TS=L , � 0� � � Q�� ��cJ� �*
 �/d�e�f�� U ^hgJi �1j � � Y*[ ?�Rlknm �$L�� � 0
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�
6.8: proton @ muon � .4H*a�b

��� '�� " 4���� 
 � proton � 1.0[GeV/c] 
 U � .4H/a�b '�� � 0
( � +��'� proton � 1.0[GeV/c]


 M < ' , �4@/� β ∼ 0.75
'�� � 0 BDC4�FE � @ � + ^D� β ≤ 0.75


 U '	� d�e�f�� U ^hgJi � 9 � ��
 � 0 )� � 1.0[GeV/c] 
 U ')
 ��BDC4�FE � @ 
 � + ^D�
��� +��
�*'�� � loss ��� � 4 0�� �
L � P �� � +������ .�
�k/� � 0

(a) 1.0[GeV/c] 
 U � proton
��� e S=LAM � 0

(b)
�
��'�� � loss

� ��� , 2��S��� ; ? � ��� ,50

(c)  "! ��� '��8S=L �lBDCD�FE � � � � 100channel Rlk 1000channel �����I�$# 2 � �=��� � �
�&% ,
,�' ' �)(�� + �)@/�F.DH*a�b �8S L BDC
� E �*' 2 ��
"+ ' loss

�*� �,% � M � proton+ k-%�� � ' 1.0[GeV/c] 
 U ' ,
,/."0 �*1�� 0

(d) proton

 K4? �
��'�� � � ��� , 2��S� WJX β

'	� BDCD�FE � � ^ � Y*[2�
��'�� � � ��� ,

(e)
Y*[2�)��'�� � ��3�4 
 ��� , 2��*5 �
�*'�� � � loss

S=L6� ��� +
Y*[2�)��'�� � '�7
8 
+ M 5�+ U ' scintillator
'(WJX � � + channel 9��;: 4 0

� '�< � .�
���@=5�+
> M@?,A�B iJkDC ��@FE(GGC � � 5
��� +*H&I R )"0�J 
�+�H&I���K � ) M 0? � �ML � > �FN < �/O ��@���P�QJ@�Q�� � @ '�� ��R .4H*a�b '(
�S 
�T MVU�
 ^W5 proton
')
 P< (J�4@-Q�� ' � 5�X 5 '�� ��R

N � 5�Y�Z�! ' � � � ' ' " ' #)% ' Cherenkov
; 'J
 P)Q ' R @ S 
 L[� 5
+)\ S 2l@*] ^^5

Cherenkov
; 
 #�%	_ � k 	 5�.4>�?A@M` < '�a 9/b ' ' 54" ' #�%A@ 
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8 � Appendix

8.1 �������
	
��2�����������
��C��� } 0�È�� 2�������� �
� �
��� } ������º�R� �!w�"��#�¬ C �
¤ � R%�$� ADC

� VME Interface
9

TDC � CAMAC Interface
9

Comparator � TKO Interface
9&% 2 Ê � NIM '�( 9 ¸'�(�)+*-,$�/.�01����<��32�4�5 � �
¤��	º�º�6 3 <���� ¹ 2 �������7� ��8�9&��� � ��¸ �7: È
�	º�Rw�

��� 9 �$��<�� 8�;�< � ��� �����>= ³/´ ¬@?�º��/R

8.1.1 ADC A TDC B3CEDGFIHKJMLONQP�R
VME 2 MAPPING ¸ CAMAC 2 Initialize

= *�ST� ¹ �@� ADC ¸ TDC
=�U3� �WVYX��/Z�[+\�]�^_ ��= É4º�6 2 �
� �����>= ¦�`�a1� 4 ��º�R

/***********************************************************************************/

/* P6@CR "Cherenkov Group" */

/* The Department of Physics at Sience Faculty of Kyoto UNIV. */

/* */

/* Editted for running ADC1182 and TDC3377 simultaneously */

/* */

/* 2002/03/12 last upgraded */

/***********************************************************************************/

#include <sys/mman.h>

#include <unistd.h>

#include <fcntl.h>

#include <sys/param.h>

#include <stdlib.h>

#include <stdio.h>

#include <time.h>

#include "cfortran.h"

#include "hbook.h"

#include "camlib.h"

/* TDC define */

#define TDC 4

#define TDC_ID 0

int TDC_REGISTER[4] = {0x1400, 0x00FF, 0x0400, 0x0000}; /* mode selection */

3 b7ced Interface fhgji�kmlonqpsrutwvmxuymzu{uk d}|�~e�7�����u� km�u�}p�� ���h��� pm�
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#define MASK (1<<(TDC-1))

#define TIMEOUT 300

/* camac function */

#define READ_DATA 0

#define TEST_LAM 8

#define CLEAR 9

#define DIS_LAM 24

#define ENA_LAM 26

/* ADC define */

#define roundup(x) ((((unsigned)(x) + PAGEOFFSET) & PAGEMASK))

size_t mapsize;

char *base;

main()

{

int k;

int t;

int status, dat, q, x;

int id,reso,edge,event,data,ch,edge_mode;

short dats;

int vmedev,offset,pagesize;

int rc,i,j;

long vmeaddr;

int flag = 0;

short *ptr;

float buffer[10];

FILE *fa;

char filename[100];

char datafile[100];

time_t starttime;

status = CAM_Open();

status += CSETCR(0);

status += CGENC();

status += CGENZ();

status += CREMI();

status += CAM_DisableLAM();

if (status)

{
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printf("ERROR:Initialize CAMAC\n");

exit(1);

}

/* Initialize TDC 3377 */

/* Begin the reprogramming sequence */

status = CAMACW(NAF(TDC, 0, 30), &dats, &q, &x);

/* Enable Xilinx programming mode and selects EPROM mode0 */

status += CAMACW(NAF(TDC, 0, 25), &dats, &q, &x);

/* Test Xilinx programming done */

q = 0;

while (q != 1)

{

CAMACW(NAF(TDC, 0, 13), &dats, &q, &x);

}

/* Clear data buffers and enable Xilinx program */

status += CAMACW(NAF(TDC, 0, CLEAR), &dats, &q, &x);

/* Disable LAM */

status += CAMACW(NAF(TDC, 0, DIS_LAM), &dats, &q, &x);

for (k = 0; k < 4; k++)

{

if (k == 0)

{

dats = TDC_REGISTER[k] + TDC_ID; /* module ID */

}

else

{

dats = TDC_REGISTER[k];

}

status += CAMACW(NAF(TDC, k, 17), &dats, &q, &x); /* Write Control Register [k] */

status += CAMACW(NAF(TDC, 1, 26), &dats, &q, &x); /* Enable Acquisition mode */

status += CAMACW(NAF(TDC, 0, ENA_LAM), &dats, &q, &x); /* Enable LAM */

}

if (status != 12 * 16)

printf("ERROR:Write control register of TDC");

printf("TDC initialized\n");
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/* ADC OPEN DEV FILE */

if((vmedev = open("/dev/vme24d16",O_RDWR)) == 1)

{

perror ("open: /dev/vme24d16");

exit(1);

}

#if 0

(void)printf("enter vme A24D16 address (hex): 0x");

(void)scanf("%lx", &vmeaddr);

(void)getchar(); /* read the/n out of the buffer */

#endif

vmeaddr = 0x50000;

pagesize = getpagesize();

offset = vmeaddr%pagesize;

vmeaddr = vmeaddr - offset;

rc = 1;

mapsize = roundup(rc);

/* MMAP */

base = mmap(0, mapsize, PROT_READ|PROT_WRITE,MAP_SHARED,vmedev,vmeaddr);

if(MAP_FAILED == base)

{

perror("mmap");

exit(1);

}

base += offset;

printf("\nBASE = 0x%x\n\n",base);

/* MAKING HBOOK AND DATA FILE */

/* HBOOK */

fort_sub_();

printf("\nType name of hbookfile!\n");

scanf("%s",filename);

/* strcpy(filename, "adc.hbk");*/

HBOOK1(10, "adc_ch0", 4096, 0.0, 4096.0, 0.0);

HBOOK1(11, "adc_ch0", 1024, 0.0, 4096.0, 0.0);

HBOOK1(20, "adc_ch1", 4096, 0.0, 4096.0, 0.0);
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HBOOK1(21, "adc_ch1", 1024, 0.0, 4096.0, 0.0);

HBOOK1(30, "adc_ch2", 4096, 0.0, 4096.0, 0.0);

HBOOK1(31, "adc_ch2", 1024, 0.0, 4096.0, 0.0);

HBOOK1(40, "adc_ch3", 4096, 0.0, 4096.0, 0.0);

/* HBOOK2(50,"ch2-ch0",4096, 0.0, 4096.0, 4096.0, 0.0, 4096.0, 0.0);*/

/* HBOOK2(60,"ch1-ch0",4096, 0.0, 4096.0, 4096.0, 0.0, 4096.0, 1.0);*/

/* HBOOK2(70,"ch1-ch2",4096, 0.0, 4096.0, 4096.0, 0.0, 4096.0, 1.0);*/

HBOOK1(80, "tdc_ch1", 1024, 0.0, 1024.0, 0.0);

HBOOK1(90, "tdc_ch2", 1024, 0.0, 1024.0, 0.0);

HBOOK1(100, "tdc_ch3", 1024, 0.0, 1024.0, 0.0);

/* HBOOK2(110, "adc tdc", 201, 0.0, 200.0, 201, 0.0, 200.0, 10.0);*/

/* DATAFILE */

printf("\nType name of datafile!\n");

scanf("%s",datafile);

if((fa = fopen(datafile,"w"))==NULL)

{

printf("file data couldn’t open.\n");

exit(1);

}

/* ACQUISITION TIME */

printf("How long does it take?\n");

scanf("%d",&t);

starttime = time(NULL);

/***************************** main ****************************/

/* PREPARATION */

CAMAC(NAF(TDC,0,CLEAR), &dat, &q, &x);

status = CAM_EnableLAM(MASK);

if (status)

{

printf("ERROR:CAM_EnableLAM\n");

exit(1);

}

ptr = (short *)base; /*clear for ADC*/

*ptr = 0x104;

/* BEGIN ACQUISITION */
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while(difftime(time(NULL),starttime)<t)

{

printf("Waiting LAM...\n");

if (CAM_WaitLAM(TIMEOUT))

{

printf("TIMEOUT\n");

break;

}

while(1) /* waiting for muon */

{

if(*(short *)base & 0x0001)

break;

}

for(i=0;i<4;i++){

ptr = (short *)(base + 0x100 + i*2);

buffer[i] = *ptr; /* ADC write to buffer */

}

fprintf(fa, "%6.1f%7.1f%7.1f",buffer[0],buffer[1],buffer[2]);

HF1(10, (float)buffer[0], 1.0);

HF1(11, (float)buffer[0], 0.25);

HF1(20, (float)buffer[1], 1.0);

HF1(21, (float)buffer[1], 0.25);

HF1(30, (float)buffer[2], 1.0);

HF1(31, (float)buffer[2], 0.25);

HF1(40, (float)buffer[3], 1.0); /* ADC write to HBOOK */

do /* write ADC&TDC data */

{

CAMAC(NAF(TDC,0,READ_DATA), &dat, &q, &x);

printf("dat=%x q=%d x=%d\n",dat,q,x);

if(q==0) break;

if((dat>>15 & 0x1) == 0)

{

/* data */
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data = dat & 0x1FF;

edge = ( dat >>9) & 0x1;

ch = (dat >> 10) & 0x1F;

fprintf(fa," %d %d %d",data,ch,edge );

switch(ch)

{

case 1:

HF1(80, (int)data, 1.0);

/* HF2(110, (float)buffer[0], (int)data, 1.0);*/

break;

case 2:

HF1(90, (int)data, 1.0);

break;

case 3:

HF1(100, (int)data, 1.0);

break;

/*case 4:

HF1(120, (int)data, 1.0);

break; */

}

}

else

{

/* header */

id = dat & 0xFF ;

reso = (dat >> 8) & 0x3;

edge_mode = (dat >> 10) & 0x1;

event = (dat >> 11) & 0x7;

printf("id=%d,reso=%d,edge_mode=%d,event=%d\n",id,reso,edge_mode,event);

ptr = (short *)base; /*clear buffer for adc */

*ptr = 0x104;

}

} while(q);

fprintf(fa,"\n");

ptr = (short *)base; /*clear buffer for adc */

*ptr = 0x104;

CAMAC(NAF(TDC,0,CLEAR), &dat, &q, &x); /*clear buffer for camac*/

}
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/* END OF AQCUISITION */

/* CLOSE */

status = CAM_DisableLAM(MASK);

status += CAM_Close();

if (status)

{

printf("ERROR:CAM_Close\n");

exit(1);

}

fclose(fa);

HRPUT(0, filename, "N");

printf("\a");

exit(0);

}
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#include <stdio.h>

#include <stdlib.h>

#include <sys/mman.h>

#include <unistd.h>

#include <fcntl.h>

#include <sys/param.h>

#include <sys/types.h>

#define CCP_BASE 0x0000F000 /* VME base address of CCP */

#define roundup(x) ((((unsigned)(x) + PAGEOFFSET) & PAGEMASK))

#define W unsigned short

struct V_REG {

W dummy00;
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W dummy02;

W dummy04;

W dummy06;

W dummy08;

W dummy0A;

W dummy0C;

W dummy0E;

W dummy10;

W dummy12;

W dummy14;

W dummy16;

W dummy18;

W dummy1A;

W dummy1C;

W dummy1E;

W reg0 ; /* CCP_TKO_2 registers */

W reg1 ;

W reg2 ;

W reg3 ;

W reg4 ;

W reg5 ;

W reg6 ;

W reg7 ;

W reg8 ;

W reg9 ;

W reg10 ;

};

main(argc, argv)

int argc;

char *argv[];

{

int vme_fd; /* file descriptor for VME device */

char *vme_vaddr; /* virtual address */

size_t mapsize;

int rc;

struct V_REG *v;

int loop;

int ma, sa, fn, q, g, dat;

float mv;

/* Open VME A16D16 Space for mapping */

if ((vme_fd = open("/dev/vme16d16", O_RDWR)) == -1) {

perror("/dev/vme16d16");
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exit(1);

}

/* mapsize */

rc = 1;

mapsize = roundup(rc);

/* Map a portion of VME memory into the program’s address space. */

vme_vaddr = mmap(0, mapsize, PROT_READ|PROT_WRITE, MAP_SHARED, vme_fd, CCP_BASE & PAGEMASK);

if (MAP_FAILED == vme_vaddr) {

perror("mmap");

exit(1);

}

vme_vaddr += CCP_BASE % PAGEMASK;

/* main routine */

v = (struct V_REG *)vme_vaddr;

fn = 8;

v->reg6 = (0x0002 ) << 8; /* Reset */

if(argc < 3){

printf("Input MA SA THRESHOLD(mV) >");

scanf("%d %d %d", &ma, &sa, &dat);

}else{

ma = atoi(argv[1]);

sa = atoi(argv[2]);

dat = atoi(argv[3]);

}

mv = -10.00*(1.0 - (float)dat / 2048.0 )*1000.0;

/* printf(" MA=%d SA=%d Data=%05d Voltage=%f[mV] \n", ma, sa, dat, mv);*/

printf("Crate=1 MA=%02d Threshold=%.1f[mV]\n", ma, mv/10.0);

v->reg0 = (dat & 0x00FF) << 8; /* Write operation */

v->reg1 = (dat & 0xFF00) ;

v->reg3 = (ma & 0x001F) << 8;

v->reg4 = (sa & 0x00FF) << 8;

v->reg8 = (sa & 0x0700) ;

v->reg5 = (fn & 0x000F) << 8;

g = (v->reg5 & 0x1C00) >> 9 ; /* Check status */

q = (v->reg5 & 0x0100) >> 8 ;

/* printf(" MA=%d SA=%d F=%d Q=%d G=%d Data: 0x%04X %05d\n\n",
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ma, sa, fn, q, g, dat, dat);*/

}% Ñu¬ 9 1q0 = ` ¹ �0��º�6 2@2����+4 ��� .�� � ³/´ ¬�= É R
#!/bin/csh -f

if ($#argv != 1) then

echo "usage:lsum_discri_set discri_level(mV)"

exit

endif

if ($1 >= 0) then

echo "discri level < 0"

exit

endif

set slot = 0

set level = ‘echo $1| awk ’{printf("%d",($1/1000.0+1.0)*2048.0)}’‘

echo "data=$level"

discri 1 0 $level
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